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Question Number : 1 Question Id : 91394317713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following indicates the concept of Zone of Proximal Development (ZPD) as
suggested by psychologist Lev Vygotsky ?

Options:

1304369601 £\ learner’s brain develops faster in childhood.



Sy A learner learns effectively when it is supported with real life examples

What a learner can do with help and without help.
91394369603,

a1394369604 Friends interaction is very important for proper development of child.
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Question Number : 2 Question Id : 91394317714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following is the correct set of four fundamental principles of Rabindranath
Tagore’s educational philosophy ?

Options:

sisedsEasee umanism, Commercialisation, Urbanisation, Hinduism

T — Naturalism, Humanism, Internationalism, Idealism

1594569607 Globalisation, Localisation, Transformation, Capitalism

Socialism, Spiritualism, Tourism, Commercialism
91394369608,
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91334563605
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The field of study of the theory and practice of self-determined learning that focuses on the
importance of knowing how to learn is known as :

Options:

LIS ooy
1504360609 LPIStemology

N T " TLr
91394369610, Andragogy

Pedacoov
9139436961 1. agos)

Heutag¢oovy
91394369612, oo/
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Options:

H1334563603,

TTEITeq Jomet

91334563610,

91334563611, ‘Fm A2

91394369612, SATeH - 3AfeT
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The construction of thought process, which includes remembering, problem solving and
decision making, is called as :

Options:

Andracoey
91394369613, 5986}

y PR
"5y HOgY
H1334563614. I 2, cholc &)

dYodacoov
91394369615, Pedagogy

Cognitive development
91394369616
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The field of study dealing with methods and principles used in adult education is known
as :

Options:

> RS PR ;
91394369617, IE[{‘I?)[}ETF

2 T i T
91394369618, Andrd‘_%mg)}

Anthropoloev
91394369619, POIOEY

01294369650 Gerontology
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The four approaches to knowing answers to research questions, according to Kerlinger,
are :

(a) Method of tenacity

(b)  Method of intuition

(c) Method of authority

(d) Method of science

(e) Method of creativity

(f)  Method of non-functionality
Code :
Options:

(b), (c) and (d)

91394369621 (a),

(b), (¢), (d) and (e)

H1334563622,

(d), (e) and (f)

B1334569623. (b)’

1304360804 (©) (d), (e) and (f)
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(@), (b), (c) 3R (d)

91334563621,

c), (d) 3R (e)

91394369622, (b)’ (
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One way to measure the extent to which a measure is free of random error is to compute
its :
Options:

o1394360960s ONteNt validity

Experimenter’s bias
91394369626

Test-retest reliability
91394369627, :

SRS EESE Demand characteristics
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Correct Marks: 2 WrongMarks: 0
Qualitative researchers criticise quantitative research for its tendency towards :

Options:

91394369629, Emphasis on evidence
Focus on empiricism

91394369630,

91394359631 Reductionism

91394359632, Obsession with ::reatlwt}-'
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91334563629, HIET W EﬁT
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2153942836350
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Correct Marks: 2 WrongMarks: 0
Which method is appropriate to reduce random error ?

Options:

o1304360633, clect large sample size

" 'L‘ I.-| - B _1 _'! 3 i -_
91394369634 Administer the test after a gap of one week

Gromnee Administer the treatment in the same way every time

15043600z Lrdminister manipulation checks
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In relation to code of conduct in research, what does APA stand for ?
Options:

R Advanced Psychological Authority

American Psvcholoeical Association
91394369638, . YRR M e

|_1 1 Jl‘ T 1 -r. - l-L. ,I_.'_. c2 )
SNy Australian Psychological Association

Association of Psvcholoeical Assessments
91394369640, S FRRGIOR s
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Question Id : 91394317723 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label @ Comprehension

Read the following passage carefully and answer questions 11 to 15.

For all the disagreement in the industry about the future of aviation, there is perfect accord
on one point : There is going to be a lot more of it. The world’s air passengers flew a combined 7.64
trillion kilometers in 2017. By 2037, that will rise to 18.97 trillion kilometers, with about 40% of the
increase happening within five intra-regional markets : China, India, North-America, Europe and
South-east Asia. That is sparking a battle over the biggest bottleneck holding back this growth :
airports. The governments that still own many of them should be more open to privatisation to
cover a $ 78 billion funding gap in needed capital investments. Airlines, airports’ biggest customers,
see things differently. Costs at privatised terminals are higher and governments should be cautious
about such actions in the interests of expanding the aviation sector as a whole. Privatising an
airport does not necessarily make it more efficient. A study has found there was little difference
between the performance of airports 100% owned by commercially-oriented government
corporations and those majority controlled by private businesses. The key is m.stecld to avoid
structures where the incentives for managers are confused or misaligned, such as where private
companies are brought in as minority investors or where managers are essentially bureaucrats
swayed by political imperatives. There is a better solution out there, but it is not likely to be very
attractive to incumbent airlines, airports, or passengers enamoured of the current generation of
gleaming terminals : build more, cheaper airports.

Sub questions

Question Number : 11 Question Id : 91394317724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the growth rate in aviation apart from the five intra-regional markets ?

Options:



1594369641 10 Percent

9. -
Q1394369642 _U pEI’LEHt

~y o
01394389643, 00 percent

4(0) percent
91394369644,
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Correct Marks: 2 Wrong Marks: 0
Why should the governments be open to privatisation of airports ?
Options:

oy L, ¥ 1’ T - T o : 1’ I--|
GroE Because they own many airports

Because there is a battle for growth
91394369646

For necessary ::apita[
91394369647, .

915394369645 ['o limit the government control of aviation mdus;tr}r

Question Number : 13 Question Id : 91394317726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
How do airlines see the move for privatisation of airports ?

(a) Feel that costs are high

(b)  Governments should be cautious

(c) Interest of the aviation sector is important
(d) It decentralises the authority to control
Code :

Options:

(a), (b) and (c)

B1334563645,

(b), (c) and (d)

H1334563650,

(c), (d) and (a)

91334563651,



and (b)

91394369652, (d), (a)

Question Number : 14 Question Id : 91394317727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
What is the key for making airports function efficiently ?
Options:

C Ve 50 anies as minority s )
a15043caces  Make private companies as minority shareholders

2 i 10 1Y 4 1 - 1 - - E 5
) . s to rers.
a1504360cs, L TOVIde misaligned incentives to managers

0} ‘l. 3 g k4 3 e L. .’ 8] - e .L. - ." L, - y ,_-_
a1504s60ass Recognise political imperatives of bureaucrats appointed as managers

Avoid structures of confused incentives to managers.
91394369656
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Correct Marks: 2 WrongMarks: 0

-.Q

Which of the following is the focal inference of the author in the passage

Options:

b F . = S . o et
: wnership o wrts does no :
SruE s Private ownership of airports does not mean efficient management

o1594360azg Growth of the aviation industry is distorted.

Airports are not an obstacle to the erowth of aviation industry.
91394369659, RS it : gre f avie Y

Government-owned airports are known for high performance.
91394369660,
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91334563649,
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B1334563650.

(©), (d) 3R (a)

H1334563651.

(d), (a) 3R (b)

2153394269652,
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Signs are considered as secondary products of :

Options:
R

91394360661 MIESSAGE

91394369662 Channelisation

Semantic accura cy
91334563663, "

91394269664, Infotainment
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The relational approach in classroom communication comes from :
Options:
o13943696es INtra-personal communication

[nter-personal communication
91394369666.

it - s g
130436065, OTganisational communication

91394369665, Mass communication
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Classroom speech is considered as a :

Options:
91394359669, 1 echnical medium

91394389670, INOon-technical medium



91394369671 Mass medium

15043067, UNOrganised medium
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91334563669, deh-ilehl HIEIH

91394369670, TR-TqehIeh] HIEAH

21594269671, ST HIEIH

91394369672 STod HIEAH
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In a classroom, communication becomes effective when participants are :
( Active

( Empathetic
(c) Heterophilous
(d) Homophilous
(

(

e) Silent
f) Uncritical
Code :
Options:

91394369673, (a), (b), (c) and (d)

41394369674 (b), (c) (d) and (e)

(a), (b), and (d)

B1334563675.

91394369676, (c). () and (f)
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(@), (b), (c) 3R (d)

H1334563673.

0), (d) 3R (e)

91394369674, (b)’ (

91334563675,

H1334563676,
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The information seeking strategies of students are :

(a) Entropy-oriented
(b) Owvert
(c) Non-functional
(d) Indirect

(e) Third party

(

fy  Testing

Options:

(a), (b), (d) and (e)

H1334563677.



91394369678, (b), (c), (e) and (f)
91394369679, (b), (d), (e) and (f)

s1394389630. (3)r (D), (¢) and (f)
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(a), (b), (d) 3R (e)

H1334563677.

(b), (c), (e) AR (f)

B1334563675.

(b), (d), (e) 3 (f)

H1334563673,

(a), (b), () 3T ()

91334563680,
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If DIVE is coded as IMYG, then the code for TAKE will be :

Options:

2153342639681, XFMG



91334563682, YENG

H13345636E3. TEMG

91334563654, XENG
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gfg DIVE &1 IMYG % ®9 H Feag fan Sira € @ TAKE &1 2 31 :

Options:

91394369681 XEMG

91334563682, YENG

TFEMG
91394369683,

91334563654, XENG

Question Number : 22 Question Id : 91394317735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The next term in the series is :

o6, 40, 27, 17, 10,

Options:

H1334563655. 6
H1334563656. 7

H1334563687.

2153394269685, >

Question Number : 22 Question Id : 91394317735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TH @l @l I SIS
06, 40, 27, 17, 10,

Options:




91334563655, 6
91334563656, 7

B1334563657. 8

o

91334563658,

Question Number : 23 Question Id : 91394317736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The next term in the letter series is ;

ME, KH, IK, GN, IS :

Options:

B1334563659. hQ
91334563630, CK

a1394369631. bD

91394369692.L)L

Question Number : 23 Question Id : 91394317736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
0 AT 1 A HIT :
ME, KH, IK, GN,

Options:

B91334563659. LQ

B91334563630. CK

21594269691, BD

91394369892, DT

Question Number : 24 Question Id : 91394317737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose the word which is different from the rest.
Options:
91394369693, L}'E“’

91394369694 LNOSE

Legﬁ.
91394369695,

215942696856, Hands

Question Number : 24 Question Id : 91394317737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFeferfiad | 9 9fe 9= g :

Options:

e

H133456396393. AC

91394369694, D
91394369695 UX
B

2153394263656

Question Number : 25 Question Id : 91394317738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ram said, “I am the only child of my mother”. Next he pointed to a boy and continued,
“This boy is the husband of the grandchild of my mother”.

How is Ram related to the boy ?

Options:

1594369697 Lather

a1za4zs00s orandfather

91394359699, Brother-in-law

91394369700 Father-in-law

Question Number : 25 Question Id : 91394317738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
| e, H AU | 1 3T Aot ¢ 99 A% 361 U Agh i 3IR 39N Fd gU e, ' IE
dAeH T A F i F ufa T

W &1 39 TH § 71 oy 2
Options:

91334563657, I Il

H13345636595. =

-l

2153942636599

91394369700, hle -1l

Question Number : 26 Question Id : 91394317739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two premises (a) and (b).

Four conclusions are drawn from them. Select the code that states validly drawn conclusion(s)
[taking the premises individually or jointly].
Premises : (a) Some women are teachers.

(b) All teachers are hard-working.

Conclusions :

(i)  All hard-working people are teachers.
(i)  All teachers are not women.
(iii) Some hard-working teachers are women.
(iv) Some women are hard-working.
Code :
Options:
B912334563701. (l) and (ll)
(ii) and (iii)
91334563702,
(1) and (iv)
215334269703,
(iii) and (iv)
91334563704,

Question Number : 26 Question Id : 91394317739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= T suR-aE R T € (a) 3R (b) |
99 § =R freend 3g9a forn T €1 39 Fe 1 e 9 freed (df) 9 Sfea & § seora o
T [STHR-aT 1 Ushed ®9 T 41 G450 &9 9 oid 89 |

MU AT :  (a) F HigelU (e 2 |

(b) |t foreyas et €1

Frrend () | e e e ¥
(i) 9t forerss AfgaTd 72 € |
(iii) FS T e Afeand €1
(iv) D Afedrd Hed 2 |

e

Options:

G1394269701. (l) aﬂ-{ (l‘.l)

Q1=294269702, (l'.l) a:ﬁ-{ (LLI'.)

Q12942697032 ([) \3ﬂ_{ (IV)

Q13942697 04, (I_Ll) Sﬂ'{ (IV)

Question Number : 27 Question Id : 91394317740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following arguments the conclusion can be no more than probable ?

Options:
Implicative

91394369705, b "¢

139436970 AANalogical

91394369707, Deductive

91394389705 Lemonstrative

Question Number : 27 Question Id : 91394317740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafaa § 9 f7g 9% ° fory dus 9 s1fues =8 &1 91 22

Options:



215334269705, i

B12334563706,

91334563707, (H A

UeYcHh
Q12942697 08,

Question Number : 28 Question Id : 91394317741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“To slow a beast, you break its limbs.

To slow a nation, you break its people.”
- Identify the argument involved in the above :

Options:
91394389709, INductive

51394389710, Leductive

Analoeical
91394369711, s - e

91394369712, Demonstrative

Question Number : 28 Question Id : 91394317741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ot et 9y 1 Tfd AfEH F & AU 2119 39F 3 Fi died € |
Tt T2 1 WOId T o ToT0 3119 =@l & i § &) Scdd #id e |

3T | Hf=fed deh g
Options:

HATHATHR
91394369709, ¢

91394369710, 1 1AT1ICHD

21594269711, H|%%¢“'~"‘|Ch



2153394269712, AR

Question Number : 29 Question Id : 91394317742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“The relation that exists between Premises and Conclusion is that of logical necessity” - is the
case with which of the following arguments ?

Options:

H91334563713. Inductive

913943659714, Deductive

91394389715 Lemonstrative

91394369716 Analogical

Question Number : 29 Question Id : 91394317742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“ aremETeR SR TSR o A TaRme SeY difches STavaeRdl € - 98 Ui fAefaied # 9 g 96
HRae?

Options:
[
91394369713, STHTHICHEh

[

91394369714, 1 IHAICH

91394389715, A@XITICHN

91334563716, N |%?‘3-||T"|q?

Question Number : 30 Question Id : 91394317743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the following statements, two are contradictory to each other. Select the code that
represents them.

Statements : (a) All surgeons are doctors.
(b) Some surgeons are doctors.
(c) Some surgeons are not doctors.
(d) No surgeons are doctors.

Code :

Options:



(a) and (b)

91334563717,

(a) and (d)

2915334269715,

(b) and (d)

H13345637149.

(b) and (c)

91334563720,

Question Number : 30 Question Id : 91394317743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frefafaa wemi § < w9 Th g & TR foled €1 2= Fsfua &3 aren $2 9 :

HIF : (a) O vAfafhas fAfeds €
(b) F© TeArafHs fafhds €|
(©) T UAAfHEH fafhas &l |
(d) = Veafafmas fafeas T § |

%

Options:

91594369717, (ﬂ) aﬂ_{ (b}

91394369718, (a) afﬂ-{ (d-)

91394369719, (h) a:ﬁT (d-)

Q1394z359720. (b) 3ﬂ-{ (E)

Sub-Section Number: 4
Sub-Section 1d: 913943904
Question Shuffling Allowed : Yes

Question Id : 91394317744 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 33)
Cuesticon Label | Comprehension



Monday Tuesday Wednesday
Time Distance Time Distance Time Distance
Cab (Hours) (kms) (Hours) (kms) (Hours) (kms)
A 16 656 12 480 10 410
B 10 700 14 490 18 720
C 11 770 13 650 16 640
D 12 744 15 825 14 840
E 14 826 14 728 12 840

The table given above gives the number of kilometers travelled and the number of hours
taken by five cabs A, B, C, D, and E. Data on three days is given - Monday, Tuesday and
Wednesday.

Use the above data to answer the questions given below.

Sub questions

Question Number : 31 Question Id : 91394317745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The average speed of cab A for the three days taken together is approximately :
Options:

91394369721, 10 km/hr

1594369722, 20 km/hr

2 -
91334369723, U km/hr

91394369724, 2V km/ hr

Question Number : 32 Question Id : 91394317746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The difference between the average speed of cab C and cab E on Monday is :

Options:
91394369725, 11 kms/hr

91394369726, 21 kms/hr

U o - N
91594369727, 31 [\[Tlhfhf

41 kms/ hr

2153394269725,

Question Number : 33 Question Id : 91394317747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which cab travelled the most in the three days taken together ?

Options:

91394369729, D

212334563730, C

91334563721, D

91334563732,

Question Id : 91394317744 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

E

Question Numbers: (31to 33)
Juestion Label - Comprehension

HHER TR ECEL
I ELl I ) g Ll
e (R H) | (fRHELH) | (ki) | (L") | (&H) | (. 9)

A 16 656 12 480 10 410
B 10 700 14 490 18 720
C 11 770 13 650 16 640
D i 744 15 825 14 840
E 14 826 14 728 12 840

ISP difcie H I o fhamie 3K &4 A, B, C, D, 3R E g1 4HaR, Hear iR g9ar &l ad
U 77T 53] T &N T |
IUYF ATdhel 1 STAN HId U < S T Y94i o S <iforg |

Sub questions

Question Number : 31 Question Id : 91394317745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fel TRt & ‘A’ &1 @ Teai @1 3irad Tifa e g

Options:

10 TeReATHTeT i e

2153394269721,

20 fRaATHT 9fd e
30 ferardTeT gfd se

B133456372%,

21594269725,



40 ToRerHeT gfd =

91334563724,

Question Number : 32 Question Id : 91394317746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HHAR &1 %9 C 3 Fd E 1 379d 7 § o sfav 22

Options:

91394359705, 11 TehCIHIZY HId =]

21 TohemTe wfd e

B13345637Z26

31 e 9fd Sel

B1334563727.

91394355725, 21 [HCAHIZ HId =

Question Number : 33 Question Id : 91394317747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
o i ° oy e gr0 weliiyes g 9F =i 72 ?

Options:

91334563729, B
91334563730, C

H13345639721.

91334563732, B

Sub-Section Number: 5
Sub-Section Id: 913943905
Question Shuffling Allowed : Yes

Question Number : 34 Question Id : 91394317748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following diagrams indicates the best relation between India, World and
New Delhi ?

Options:



~
v

A

B1334563733.

B91334563734.

O O

91334563735, O

(Oc

215942697356, \

\Q/

Question Number : 34 Question Id : 91394317748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fratafaa § 9 fog wafas ¥ vra, fava 3iv 72 fooodt & == wdiaq dd4y 1 Fefua fHa g2

Options:
(o)~
_

7. \

91334563733,

=)

B91334563734.

2153342697355,

91334563736,

Question Number : 35 Question Id : 91394317749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following diagrams best represents the relationship between, family, family
member and domestic help ?



Options:

B1334563737.

91334563738, -

2, 8
D/

II_.-
|"'-
L

o

|

H1334563739. =

) ()
91394369740, Q O

Question Number : 35 Question Id : 91394317749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fefafaa § § o @t § 9RER, aier SR 5e A/ Al & a9 HeY % Jarag €9 4
frefug fear 22
Options:

1)
AN LS
91394369737,

Y
g s

“ON
-

P
l

2153942697358,

7O
W0

B1334563739.

Y C

III'H_H.\I
L

L

B91334563740.

Question Number : 36 Question Id : 91394317750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is not a Network Topology ?

Options:



Imo
Q1=294269741. J'{[n'D

91394369742, Chain

215942697435, Bus

91394369744, Star

Question Number : 36 Question Id : 91394317750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frefefad ° 9 -5 T2 gitefa (SrmErst) T8 €2

fa

2153394269741,

91334563742, |
91334563743, K

91334563744, SR

Question Number : 37 Question Id : 91394317751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the following :
List - I List - II
i)  Outlook

) Browser (
b) Programming Language  (ii) DOS
) (

(

cl

—

L

——

Operating System
d) E-mail
he correct code is :

B 9 9

91334563745, (1) (I'.I_I'.) (I_I'.) (IV)

iii) Internet Explorer

p—

iv) Fortran

-

s1394360746, WD) (IV) (i) (i)



91334563747, (I_I'.) (ILI'.) ([V) (l)

215334269745, (IV) (I'.I_I'.) (LI'.) (1)

Question Number : 37 Question Id : 91394317751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ferferfiad 1 e =% -

T - 1 10
(a) SIESH (
() S e i) <
(c) 3T oy (
(d) -9 (
@@%:

(a) (b) (c) (d)
s @ @

B12334563746. (LI'.I'.) (I'.V) (I_I'.) (l)

91394369747 (i) () (@v) (D)

913345637458,

Question Number : 38 Question Id : 91394317752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following denotes the Internet hardware requirements ?
(a) Hub
(b) Bridge
(c) Router
(d) Gateway
(e) Modem
Code :

Options:

(e) only
91394369749, :

(a), (b) and (e)

B1334563750,

(b), (¢), (d) and (e)

91334563751,

91394369755 (a), (b), (¢), (d) and (e)

Question Number : 38 Question Id : 91394317752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frAfafEd | 9 ShiH-41 3231 TedaR AEYIHAIs shl <90dl g 2

91334563749, ((-_‘)

(a), (b) 3R (e)

B1334563750,



(b), (c), (d) 3T (e)

B912334563751.

0), (d) S (e)

91394369752, (a), (b), (

Question Number : 39 Question Id : 91394317753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A set of rules used in communications in a network is called :

Options:

91394389755 Interface

B =
91394369754 L rOtOCOl

a1394389755. Address

s1394389756. Reference

Question Number : 39 Question Id : 91394317753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T 429 & GUu0 § Ygad i & I=94 &1 Fel Il © ¢
Options:

91334563753, :
91334563754, I”!ll g

91334563755, " ?‘
THH

B91334563756.

Question Number : 40 Question Id : 91394317754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are pointing devices ?

(a) Trackball (b)  Touchscreen
(c) Graphic Tablet (d) Joystick
Code :

Options:



2R i
91394369757, (a) only

(a) and (d)

91334563758,

(a), (b) and (d)

91334563759,

s1394389760. (@) (D), (€) and (d)

Question Number : 40 Question Id : 91394317754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fefafad § 9 s[A-9 @i Ui g 2

Sad (a)
(a) 3R (d)

B1334563757.

91334563758,

(a), (b) 3R (d)

B91334563759,

(a), (b), (c) ¥R (d)

B1334563760,

Question Number : 41 Question Id : 91394317755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A study was carried out on the drought resilience in India. Which of the following States

show highest level of handling drought ?
Options:

Telaneana, Andhra Pradesh, Tamil Nadu
91394369761

a1394397e> Odisha, Karnataka, Kerala

T Sikkim, Punjab, Arunachal Pradesh



01294369764 Jharkhand, Chhattisgarh, Jammu and Kashmir

Question Number : 41 Question Id : 91394317755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IR H Y fefa v & 9 | ek s1eeA o ) fefaiad 9 9 fa v 8 g 9 feed =0
e TR SE T E 2

Options:
- T, Y e, g

291334263761

91394369762 O FS9l, FAIeh, Hid

91504369763, [ TIFRH, TSI, STEUTHA Yol

91334563764

Question Number : 42 Question Id : 91394317756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The most harmful types of environmental pﬂﬂutants are :
Options:

- r.- - . Ir-.- 2] 2
01394369765 Human organic wastes

T I.-| L, " s .-_
915394369766, Wastes from faecal matter

a139436976> INon-biodegradable chemicals

- - L b "I X " 5 G
91394369768, Natural nutrients present 1n excess

Question Number : 42 Question Id : 91394317756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qaTYe BN JAEg Ygue ¢ :
Options:

=) ¢
a1394369765. HIMA Sld HAYSH

fawal 51 319ad

2153394269766,



TR-SE3TI&og 9

B1334563767.

Thides e dedi a1 e

B133456376E.

Question Number : 43 Question Id : 91394317757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : Natural gas is a very attractive eco-friendly fuel.

Reason (R) : It produces few pollutants and less carbon dioxide per unit energy than
any other fossil fuel on combustion.

Code :
Options:

1304369760 DOth (A) and (R) are true and (R) is the correct explanation of (A).

o1304380770 DOt (A) and (R) are true and (R) is not the correct explanation of (A).

a1394389771 (A) is true, but (R) is false.

s1394385772 (A) 18 false, but (R) is true.

Question Number : 43 Question Id : 91394317757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AR (A) :  WIHdSH 19 98 AHUF TAeRT-gad 394 2|

WHIT (R) : % &9 o YT (Rl 37 SAed S99 i 37Ua HH Ygueh dcd AR Ufd e
Fel H H Fe SRS 3cd7 2l ¢ |

he

Options:

91394369789, (A) R (R) S HE1 E 3R (R), (A) F1 el AT 2 |
(A) 3T (R) SFI T&l € 3R (R), (A) 1 Tl =M1 T8 © |

91394369770,
91394369771, (A) el %! féh_-g (R) TTeAd gl
91394369772, (A) TeTd g, I%hq (R) HE 2 |

Question Number : 44 Question Id : 91394317758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What percentage of energy coming from the Sun is re-radiated towards the space ?
Options:

i Q
91334563773, 15%

25%
91394369774,

30%
913943697 75. 30 %

0
B1334563776, 20 %

Question Number : 44 Question Id : 91394317758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g4 Y ITYA ol o1 oo Hiaqera sfdfel § g fafwfia 2 272

Options:

—.
91394369??3.-15’0

VP59
91394369??4_"5'”

L | ]
91394359??5_~“U /o

%
91394369776, 20%

Question Number : 45 Question Id : 91394317759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
As per Central Forestry Commission (CFC), how many forest types are found in our

country ?
Options:

2153394269777,

91334563778,

B1334363773.

B1334563780. 16

Question Number : 45 Question Id : 91394317759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

2153394269777, 15

B1334563778.

B12334563779. 28

91334563750, 16

Question Number : 46 Question Id : 91394317760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The number of open universities and directorates of distance education whose courses are
recognised by UGC as on August 9, 2018, is :

Options:

1 C
21594269751, 49

()
r..p' J

21594269782,

H13345697E3. o8

62
91334563754, i

Question Number : 46 Question Id : 91394317760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

9 3FTH, 2018 i Fefq & SATHR 3751, §F1 J=Ia1 e g3y e Feemeri oI gaa favataene
Hﬂﬂ'@ﬂ%

Options:

qC
H1334569781. 4%

]
r-.. J

B13345637852.

B91334563753.

62
91394369784,

Question Number : 47 Question Id : 91394317761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
Match the following :

List - I List - II
Open University

) i)  Odisha State Open University, Odisha
(b)  Dual Mode University

i)  Amity University

(d) Deemed University

(
(
(c) Mixed Mode University (iif) Indian Institute of Science, Bengaluru
(iv) University of Mumbai, Mumbai
(

(e) Specialised University v)  School of Planning and Architecture, New Delhi

Options:

91394369785, (i) (i) (v) (1) (iv)
91394369786, 0 (v) (1) (D) (v)
91394369787, (v) (@O (v) () (i)

s139436978z, W) () (1)  (iv) (V)

Question Number : 47 Question Id : 91394317761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

freifera =1 gaferd = -
T - 1 = - 11
a) T Tavaie=me™ i)  Aifewm W g favafeaame, sfem

(

(i) UHS feavafa=e
c) Tufya ey favafaame (iii) YA fom 95 H, STdE

(

(

(
(b) & EEY fovafaaed
(

| anltl e

iv) Heg favafamm, qes

d) Wi favaia=me

(
(e) Toreroman wrd fergafemmera

v) TTarem wd e faamed, 15 el

Options:

s1394369785. W) (@) (v) () ()



B1334563756. (1) (IV) (LI'.) (I_LI'.) (V)

B1334563757. (V) (l) (IV) (I_I'.) [:I_LI'.)

91334563758, (I_I'.) (I_LI'.) (1) (IV) (V)

Question Number : 48 Question Id : 91394317762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which private institutions in the following list have been granted the status of ‘Institutes of
Eminence’ by the MHRD ?

(1) BITS, Pilani

(ii) MAHE, Manipal

(iii) ~ Symbiosis, Pune

(iv)  Amity University, Noida

Choose the correct answer from the code given below :
Code :

Options:

(1) and (ii)
Q13942697 59.

(i) and (iii)
91334563730,

(ii) and (iii)
Q12943289791

(i) and (iv)
Q1394269792

Question Number : 48 Question Id : 91394317762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

. ue. AR g Frefefiaa gt d Sh-d wrgde e wit sFfeare e oive 2o fi =il
fmER?

(i) dred (e Aem,), ferh
(i)  UH.LEE.E., i

(iii)  ferarifia, oo

(iv) ufedt gfafid, T

= fqu Mo Fe # @ | I g
w2

Options:



(1) U5 (ii)
91394369739 h

(1) U4 (iii)
91394369790, ™

(ii) TS (iii)
91394369791 «

(ii) UF (iv)
Q1=294389792, «

Question Number : 49 Question Id : 91394317763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
One of the first states to establish a higher education council was :

Options:

| Sikkim

91334563733

Goa
91394369794,

- n Iy =
91394369795, Andhra Pradesh

0130436970 Jammu and Kashmir

Question Number : 49 Question Id : 91394317763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ool Toreqr uftug sl ST 3 9Tl 98l T4 § 9 T @

Options:

91334563733, IEI hy
913345637394, “

91334563735, S 3

S 3R HYHR

2153394269736,

Question Number : 50 Question Id : 91394317764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
State higher education councils are established under the instruction of :



Options:

NITI Ayog

2153342697397,

91394369798, RUSA

CABE

2153342697399,

2 I
B12345635800. PUSA

Question Number : 50 Question Id : 91394317764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T I=aal. Tren afug ol Tmaen fohdeh 37eS & A=id 2idl o 2

Options:

B13345637397. l |~3:|'|?f|'r[

91334563735, &

7.0 2.

291394269799
91394263300, li
Paper 11
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Group Id : 913943234
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Revisit allowed for edit? : No
Break time: 0
Group Marks: 200
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Section Id : 913943234
Section Number : 1
Section type: Online
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Number of Questions; 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 913943906
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 91394317765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
By what sense-organs do we perceive external substances according to the Najyayikas ?
(i)  Visual
(ii)  Tactual
(iii) Auditory
(iv) Gustatory

Choose the correct answer from the code given below :

Code :

Options:

(i) only
91294359501,

(i) and (ii) only
W1Z943289502.

(ii) and (iii) only
91Z94369503.

(iii)} and (iv) only
913943269504,

Question Number : 51 Question Id : 91394317765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pt 3 srET R A 3 g a e g o A E 2
(i) ey

(i)

(i) =Eo

(iv) &dTg

4 fee g g2 § @ W I R e
% :

Options:

91334363801, =

Fad (i) 3 (D)
91394369802



Fad (i) 3 (iii)
91394269803,

Fad (i) 3 (iv)
91394369804,

Question Number : 52 Question Id : 91394317766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which type of hetvabhasa is committed by the following argument (anumana) ? Sacrifice
(Yagah) is not the cause of heaven (Svarga) because it is an action (Kriyvatvat).

Options:

Savyabhicara
91394369805.
91394369808, *>ddha
91394360507, ruddha
91394369805, adhita

Question Number : 52 Question Id : 91394317766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafafaa smmm & fra wehm &1 eeamwE 2 2
T3 T 1 I TG & FIh T8 AT B
Options:
91394369805,
91394369808, ¢
91394369807, ’
91394369808, arfa

Question Number : 53 Question Id : 91394317767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the Naiydyikas the relation berween a pot and its colour can be perceived by

Options:



Samveta Samavaya Sannikarsa

912943632309,

Samyukta Samavaya Sannikarsa
91394363310, yuk ¢ )

Samavdya Sannikarsa
913343635811,

Visesanata Sannikarsa
91334363812,

Question Number : 53 Question Id : 91394317767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Farfret % ER 9T 3N 3Eh T % it day w°t & g s7wa R s wwar #
Options:
91394369809, A i
HgFT GHATT Tl
91394369810,
91394369811, T G
91394369812, 0 il

Question Number : 54 Question Id : 91394317768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Nvaya epistemology, which type of Pratydksa is called atindriva ?

Options:

Anuvyavasaya
91334563512, 7 Y

Nirvikalpaka Pratyaksa
91294369814,

Savikalpaka Pratyaksa
91294363815,

Alaukika Pratyaksa
91394363816,

Question Number : 54 Question Id : 91394317768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=rg 74 a4 fFa YR % gege i sdi2g Fa 9 g ?

Options:

91334369513, R
91394369514, T Jeee
91394369515, W Jee
313343693516, ST T

Question Number : 55 Question Id : 91394317769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one among the following is not a condition of vakyarthabodha ?

Options:

91394360817, A5
s1394369818, | 2
913943695819 Vakyasesa
a1394369820. T

Question Number : 55 Question Id : 91394317769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr=fefiga & @ S99 v aEday $ ad T8 2 2

Options:

91394369517, st

91334369518, Tt

91394369513, T
Ty

B12334563820.



Question Number : 56 Question Id : 91394317770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are Assertion (A) and Reason (R). Consider them and select the correct code given
below in the context of Carvdka darsana :

Assertion (A) : Consciousness is a bi-product of the four bhiitas only : prithvi, ap, tejas
and vayu.

Reason (R) : There is nothing over and above the four bhiitas.

Code :
Options:

Both (A) and (R) are true, but (R) does not give correct explanation of (A).
91:924369521.

Both (A) and (R) are true and (R) is the correct explanation of (A).
D1294269822,

(A) is false, but (R) is true.
21594269825,

(A) is true, but (R) is false.
91334563824,

Question Number : 56 Question Id : 91394317770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hrer arfirres (A) 3t ook (R) fou e B | 37 W famm Fifse oft smafe zof & e 4 = e o adt
iEﬂﬁﬁﬁN:
ST (A) : Sa-1 Saa =1 qAT — geat, 379, dod i g = I9E 8 |

% (R) : 91 o o Affer st smga i 7d 7 1
% :

Options:

(A) 3 (R) T wdt £ formg (R) (A) it a1t samem adi 2
Q1394269821

91394369822, 0 3 (R) g1 &t & ofit (R) (A) it we) are § |

A) Teid R |
B1334563823. “ %ﬁﬁ{ ALl

A R) Tefd & |
B913345635824. ( ]H’aﬁ%%{ ) 8

Question Number : 57 Question Id : 91394317771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List [ with List II and choose the correct answer with the help of the code given below :

List [ List II

(@) Kumarila M Akhyati

(b) Nagarjuna (i) Viparita khyati

(c) Prabhakara (iii} Abhinavaanyatha khyati

(d) Madhva (iv) Asat khydti

Code :
Options:
91394389505 2D, (B)=(D), (=), (d)-()
31394369526, (a)—(iv), (b)—(i), (c)—(iii), (d)—(i)
91394369827 (a)—(ii), (b)—(iv), (c)-(i), (d)—(iii)
91394369225, (a)—(iv), (b)—(ii), (c)—C(i), (d)—(iii)

Question Number : 57 Question Id : 91394317771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t gt 1 & gafea hife st = fie me e i gera @ ot s 9f

@ g W sy
() T ) favda sty
(© R TV ———
(@ e (iv) argq =T
%He:
Options:
91394389g0s @D, (B)=(D), (=), (d)-(w)
91 2942E9826 {a]—{“r], {b]_{“], {'C]—{lll], {d]_{l]
—(ii), (b)—( (D (i
9159436950, A, B)=V), (=), (d)-(iiD)
_1,]]—"’ _1,d—1"
91394389505 @~ (B)-0D), (=), (d)-(iD

Question Number : 58 Question Id : 91394317772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



God is the author of the Vedas, according to

Options:
91394389809 n¢ Plrva Mimamsa
The Nyaya
912394369820,
The Samkhya
91294369521,
The Vaisesika
91:94369832.

Question Number : 58 Question Id : 91394317772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

forereh srgom Fg et 2 2
Options:
qd waren
91394369329,
91394369830, 7
91394369831, o0
91394369832 i

Question Number : 59 Question Id : 91394317773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The main point on which the Pidrva Mimamsa and the Uttara Mimamsa& agree is

Options:
The Self (jiva) is passive.
215394369855,
Vedas are the foundations of all knowledge.
2153942695854,
Vedas are pauruseya.
215394269855,

Jagar is an appearance.
21394269836, ® PP



Question Number : 59 Question Id : 91394317773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
98 qE&q a1a wi-t & o W oF dimrar st gow Hfierar uEed 8 2

Options:
e (oft) Ffessa 2
91394369833,
a¥ft 5= <t smarfien § )
91394369834, <z ot I ¢
TR R |
91394369835, % ¢
T ATAE R |
91394369836,

Question Number : 60 Question Id : 91394317774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which pair among the following accepts the existence of God ?

Options:

91394369837 Carvaka and Madhva

Iswarakrsna and Cdrvaka
91:94369530.

91394369559, Calvikaand Samkara

Madhva and Udayana
91394363340,

Question Number : 60 Question Id : 91394317774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freaferfiaa 4 & v gm $va & aftre =t e war @ 2

Options:
V1394269337, st mes
3t =mafe
91394269538,
TTaTH 3T T

91334563829,



qeq 3 g9
913942695840,

Question Number : 61 Question Id : 91394317775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following best describes the classical Samkhya darsan ?

Options:

Philosophy of Perpetual dynamism
A13943269541 . phy pe ¥

Philosophy of pluralistic materialism only
B1334563842.

Philosophy of Purusa-prakrti viveka jiidna
H1334563843.

Philosophy of monistic theism
2153942695844,

Question Number : 61 Question Id : 91394317775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiaa faswedt 3 @ sh-m wefty arey gof 1 3oy am & 2

Options:

Hed Hishaarg i
B912345635841. ?{Eh

Faet agerardl witfaskararg w1

215942695842,

-5l fad% 719 1 534
91394389843,

THYETETE 1 g

291533942695844.

Question Number : 62 Question Id : 91394317776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List [ with List Il and choose the correct answer with the help of the code given below :

List I List II
(a) Samkara (i) Anubhdsya
(b) Ramanuja (ii) Dreg-drsya-viveka
(c) Madhva (iii) Vedarthasamgraha
(d) WVallabha (iv) Bhdasya-Prakasa
Code :

Options:



91394360545 2D, B)-(D, ()-G), (d)-0)

Q1 2942E9846 (a)—(ii), (b)—(iii), (c)—(1), (d)—(iv)

91394389547, @~ (bI-D), ()-(v), (d)-(ii)

91394389545 2~ (B)-(D), (0)-(iiD), (d)-()

Question Number : 62 Question Id : 91394317776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t gt 1 & gafes $ife st fi= fie me e B gema @ wdt s gfc

@ 3 W smum

(b) g+ (i) gevafed®

(© wem (i) Jzrefas

(d) agw (R p—

%
Options:
913294269245 (a)—(iii), (b)—(ii), (c)—C(iv}, (d)—(i)
91394369845, {a]_{“]:n {h]_{lll], {'c]_{l], {d]_{l'llr]
91394369247 (a)—(i), (b)—(ii), (c)—(iv), (d)—(iii)
91394389545 &~ (B)-(D), (0)=(iiD), ()=

Question Number : 63 Question Id : 91394317777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

There is a view thart self is only an aggregate of mental states. Who holds this view ?
Options:
Nydya and Samkhya
2153942695849,

Early Buddhism and Vedanta
91394563550,



Yoga and Vaisesika
913342635851,

Only early Buddhism
91394363352,

Question Number : 63 Question Id : 91394317777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

7z fomm & sren Sae aetqmadl &1 ag=a 2, fomea 2 2
Options:

2915334269849, Y 3

21594269850, e

91334563551, W alk

Fae yHEH dtgad
91394369852,

Question Number : 64 Question Id : 91394317778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following does net believe in God ?
Options:
[swarakrishn
91394369853, ?

Kanada
91394369554,

91394389g55,  _narmakird

91394389556, CoAma

Question Number : 64 Question Id : 91394317778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frefefiaa & @ formen $van 4 favama 78 2 2

Options:

H1334563853.



B9123345635854.

H1334563855.

91334563556,

Question Number : 65 Question Id : 91394317779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mark the correct sequence in the context of the upanisads :

Options:

Prajiia, Vaisvanara, Taijasa
91594369557,

Taijasa, Vaisvanara, Prajiia,
91594369550,

Vai§vdnara, Prajiia, Taijasa
9194269559,

Taijasa, Prajiia, Vaisvanara
D1394369560.

Question Number : 65 Question Id : 91394317779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ufagi & e & odt e fafga $ifsm

Options:

UIH, dvEr, dad
91394369857

dom, dvarm, oiE
91394369858,

dvar, WIH, d99
91394369859,

o, Wi, avart
91394369260,

Question Number : 66 Question Id : 91394317780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List [ with List II and choose the correct answer with the help of the code given below :
List [ List II

(a) Hetu must be present in all positive instances in which (i) Abadhita
the Sidhya is present.

(b) Hetu must not be incompatible with Paksa. (ii) Paksadharmata
(c) Hetu must be present in the Paksa. (iii) Sapaksasattva

(d) Hetu must be absent in all negative instances in which (iv) Vipaksdsattva
Sadhya is absent.

Code :
Options:

a150am0gay (@D, 0)-0, @G, (-

91394269862, (a)—(i), (b)—(iii), (c)—(iv), (d)—(ii)

a1394369563, 2~ B)-, (@-GiD), (d)-()

91394389864 2~ (BI-(D), (0-(0), (d)-(iiD

Question Number : 66 Question Id : 91394317780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t gt 1 & gafea $ife it fi= foe me e i gera & wdt s gfc

T T
(2) 2g ot vrarews sqrewen, fodf arem @, 4 (D smnfim
ey faemm gm |
(b) g &7 % gy arETa T & | i) carerd
(0) 2 ver & foremm 21T | (iii) ggam
() Fgaf st e, B sy @ §, (V) fveme
T ferermma 74 g |
%he :
Options:
91394369861 (a)—(iii), (b)-(i), (c)—(ii), (d)—(iv)
91394369862 (a)—(1), (b)—(iii), (e)—(iv), (d)-(ii)
—(1i bi—(i T d)—(i
91394369863, (a)-(ii), (b)-(1), (c)—(iii), (d)—(iv)

91394389864 2~ (BI-(D), (0-(0), (d)-(iiD



Question Number : 67 Question Id : 91394317781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In Vedic tradition the source of all the powers of Gods is

Options:

91394369865, ranman
Prajaparti

91394369866,

91394389867, 14
Yajfia

91394369868,

Question Number : 67 Question Id : 91394317781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

afew wooqn & Syar <t oyt wifvrat =1 @9 2
Options:
91394369365,
91394369566, T
91394369867, 0
31394369268,

Question Number : 68 Question Id : 91394317782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are Assertion (A) and Reason (R). Considering (A) and (R) in the light of Gandhi,
select the correct code :

Assertion (A) : All Religions are true.
Reason (R) : All Religions have some error.
Code :

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
W1Z943895649.

Both (A) and (R) are true, but (R) does not give correct explanation of (A).
91394369570



(A) is true, but (R) is false.
913345635871,

(A) is false, but (R) is true.
91334563872,

Question Number : 68 Question Id : 91394317782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fr e (A) 3t T (R) fau me 3 | mieht % e # (A) i (R) W w0 gu Ed 5
e
sifirer (A) : wft o e § |

a® (R) : ot ot & Fo et 71

% :
Options:
91394369369, U 3t (R) ST &t & 3 (R) (A) 1 W =AE R
(A) 3 (R) T ot & g (R) () St ot s AT
91394369870,
A R) TTerd 7 |
91394369871, | ) W & g () e B
A) Tefd R |
R Ll JULLE

Question Number : 69 Question Id : 91394317783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In K.C. Bhattacharya's philosophy all the following propositions are true except

Options:

Logic presupposes metaphysics.
91394289873, sty PP PAr

Logic is the branch of the philosophy of the object.
91394269574,

Logic is science.
91334363875,

Metaphysics defines itself in logic.
91394269876,

Question Number : 69 Question Id : 91394317783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



#.4%, wgrar % g9 ° e ol w Fefafas ot s adt € -
Options:

TohIITE e HTET <h! FTTdET & |
91394369873,

B13345635874. forer % o o

ehe T 211
91394369875, &

TehuTEA & deadiaia = i o st 2 |
91394369876,

Question Number : 70 Question Id : 91394317784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider given Assertion (A) and Reason (R). In the light of Tagore’s concept of Maya, select
the correct code as given below :

Assertion (A) : Mayd is the principle of cosmic error.
Reason (R) : Self-imposed limitation of God is Maya.
Code :

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91294359577,

Both (A) and (R) are true, but (R) does not give correct explanation of (A).
91294369578,

(A) is true, but (R) is false.
H1334563879.

(A) is false, but (R) is true.
2153342639880,

Question Number : 70 Question Id : 91394317784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hrer srfirme (A) aftash (R) R me § | 276t arar it sgamon & srets o e R e odt 5
&t gf
afirmeT (A) : wra favawf = s fagma 2

T (R) : AT $7at 1 TG 999 2 |

®e:
Options:

139435057, W I R) A T & 3R ®) (A) B =E R



(A) 3 (R) 5T Tdt & Formg (R) (A) ot =t samem 3di 2
Q129426987 8.

(A) Tt 2 frrg (R) T ®

2153394269879,

(A) Tera & forrg (R) T B 1

B12334563850.

Question Number : 71 Question Id : 91394317785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List [ with List II and choose the correct answer with the help of the code given below :
List [ List II
(a) Vivekananda (i) Integral Advaitism
(b) Sri Aurobindo (ii) Liaison Officer
(c) Radhakrishnan (iii} Practical Vedanta

(d) Igbal (iv) Reconstruction of Islamic truth
Code :
Options:
91394369581 &, (P)=), ()-(), (d)-(v)
91394369882, (a)—(i), (b)—(iD), (c)—(iii), (d)—(iv)
91394369883 (a)~(ii), (b)—(iv), (c)—(i), (d)—(iii)
91394369584 @~ (B)-(), (0)—=(iD), (a)-()

Question Number : 71 Question Id : 91394317785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t g 11 & gafaa ifse et = e e ge 6 gerar & ad 3w w gic

el gl 11
(a) faderrg (1) g srgaaTg
(b) st agrfag (i) gk sfererd
() qremFe (iii) =ragrfes Sgma
(d) geara (iv) geamdt weat &t gdan
% :
Options:

a15943c0gg, AU, 0=, (-, (d)-()



(a)-(1), (b)-(i1), (c)—(iid), (d)—(iv)

91394369832,
91394369583 @ (B)=(¥), (=), (d)-(iiD)
91394369584 &~ (B)-(i), (0)—(iD), (d)-()

Question Number : 72 Question Id : 91394317786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the correct code which represents the different poises of mind in the process of evolution
in the philosophy of Sri Aurobindo :
Options:

Higher Mind, Illumined Mind, Over Mind, Intuitive Mind
H12334563855.

Higher Mind, Over Mind, Intuitive Mind, [llumined Mind
H1334563856.

Higher Mind, Illumined Mind, Intuitive Mind, Over Mind
B1334563887.

Higher Mind, Intuitive Mind, [llumined Mind, Over Mind
H133456388E.

Question Number : 72 Question Id : 91394317786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

oft apfae % g 4 famhrm < wfsen o oa A fafay sreenat =i Fefi w6 % oft w0 & oft 5=
ERLE
Options:

I 74, Teiea 74, FfimE, Aawta
91394369885,

I 74, AfeE, avia, v =
913943698586,

I 7, Terea w4, FHawtm, sfima
91394369887,

F=AL HH, HAaWE, wéreq 54, Al
91394369888,

Question Number : 73 Question Id : 91394317787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is considered as ‘Temple of the Divine’ according to Tagore ?



Options:

91394369859, oW

Body
91394369530,

91394369891, und

Sense organs
913343635832,

Question Number : 73 Question Id : 91394317787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
& o srgam Freafafaa & @ fRe Saar @ afer wmn s 8 2

Options:

B913345635859.

913345635830,

9133456358391, e

=

215942695892,

Question Number : 74 Question Id : 91394317788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider given Assertion (A) and Reason (R). Considering (A) and (R) in the light of Jaina
Philosophy. Select the correct code :

Assertion (A) : Dravya and Guna are inseparable.
Reason (R) : Dravya is the Asraya of Guna.
Code :

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
9194369593,

Both (A) and (R) are true, but (R) does not give correct explanation of (A).
1294269294,

(A) is true, but (R) is false.
2153394269855,

(A) is false, but (R) is true.
9133456358356,



Question Number : 74 Question Id : 91394317788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
a1394350505 ) M R) A T § 3 R) (A) B F =wE R |
@) st (R) 3w & fieg (R) () 1wt sare i 2 |
91394369894,
A R) A & |
41334369895, OLLLL (O ?
A) Tefd B |
91394369896, ) g Wl e

Question Number : 75 Question Id : 91394317789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Yajiia is performed for the benefit of

Options:
Yajmana
913942695937,

91394369898, Nrvika

91394389899, CVAA

91394365900 Both Yajmanaand Rrvika

Question Number : 75 Question Id : 91394317789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

77 & @Y o ferg e sman 2

Options:

B13345638397.



Ffca®

]394 2695898.
Al 2943269899,

TIH A Ffea gl
Q1=2942699300,

Question Number : 76 Question Id : 91394317790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List [ with List Il and choose the correct answer with the help of the code given below :
List [ List I1
(a) Principia Philosophia (i} Berkeley
(b) An Essay Concerning Human Understanding (ii) Hume
(c) Principles of Human Knowledge (iii) Descartes
(d) An Enquiry Concerning Human Understanding (iv) Locke

Code :
Options:

01304369001 @~ (0=, (0-(iid), (d)-(v)

91394369902, (a)—(iit), (b)—-(ii), (c)—(iv), (d)—(D)

91394369903, &, (P)=(v), (-, (d)-()

91394269304, (a)—(iii), (b)—(iv), (c)-(ii), (d)—(i)

Question Number : 76 Question Id : 91394317790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1=t gt 1 & gafes $ife st fi= fie me e B gema @ wdt s gfc

ok gl 11
(a) fifefr fraratiea ©
(b) @ e Hafh g sewdfen (i) m
(©) fiftraea a1f% g i (i) 2errd
() o gl Sufin g deefen (V) &
%
Options:

91394389901 &~ (PI-(D, ()=, (d)—(i)



51394389500, U, ()=, (=), (d)-()

91394369903, D ()W), ()-(), (d)-(iD)

913943689904, B0, (0)-(¥), (c)-(1), (d)—(D)

Question Number : 77 Question Id : 91394317791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List [ with List II and choose the correct code with reference to modern western

philosophy :
List I List II

(a) Sceptic (@ Berkeley

(c) Division of Qualities (iii) Hume

(d) God-intoxicated (iv) Spinoza

Code :
Options:

—(iii hi—(i i d1—(i

91394389905, &M, (B)=), ()-(), (d)—(v)
91394369906, (a)-(1), (b)-(ii), (c)—(iii), (d)—(iv)
9132394269907, {ﬂ]—{u], {h]_{]-]:- {C]—{]_I_I_], {d]_{ﬁl’]
9139436990 D, (B)=(iD), (@©-), (d-(v)

Question Number : 77 Question Id : 91394317791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t g 11 & gafaa ifs it smyfre g 5o e & e | odt e % 9fi

qHr1 qHl 11
(a) HemraTe (1) ahet
(b) aresaTét (ii) i
() poii =1 fervrar (iii)
(d) SyarImro= (iv) ferrsn
%he :
Options:

91394389905, &, (P)=0), ()-(), (d)-(v)



51394389905, 2~ W (PI=(D), ()-(iD), (d)—()

91394369907 @ (=D, ()=, (d)—(v)

0130436090 @D (=G, -0, (d)-v)

Question Number : 78 Question Id : 91394317792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List [ with List II and choose the correct code with reference to Locke :

List [ List II
(a) Sensitive knowledge (i} Knowledge of the Self
(b) Demonstrative knowledge (ii) Knowledge of the World
(c) Intuitive knowledge (iii) Knowledge of the God
Code :
Options:
(a)—(ii}, (b)—(i), (c)—(iii)
91394359909,
(a)—(ii}, (b)-(iii), (c)-(1i)
9123942369910,
a)—(i), (b)—(ii), (c)—(iii
91394369911 (a)-(i), (b)—(ii), (c)—(iii)
a)—(iii), (b)—=(i), (c)—(ii
91394369912 (a)—(iii), (b)—(i), (c)—(ii)

Question Number : 78 Question Id : 91394317792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 19 g 11 @ g A ot i 3 ded § vl = B g
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Hhe :
Options:
91394369909, 2 ()=, (-(i)

91304389910, P, ®)-(id, (-



913943650911 2D (B)—(D), (c)-(ii)

91394369912, (a)—(iii}), (b)—(i), (c)—(ii)

Question Number : 79 Question Id : 91394317793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the correct answer :

For Rationalists, Innate ideas are

Options:

Universal and A posteriori
B1334563913.

Particular and A priori
912334563914,

Universal and A prior
H1334563915.

Particular and A posteriori
91334563316,

Question Number : 79 Question Id : 91394317793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wat gm #t fafea $ifem

gfganfeat & o wew v &
Options:

araitfire aftt srgwanfia

913943699153,
913943694614, A
913943695915, g
91394369916. AR

Question Number : 80 Question Id : 91394317794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following statements with reference to Heraclitus and mark the correct code :

(i) The basic substance of the Universe is fire.

(ii) Reality is ceaselessly changing.

(iii) Reality is unchanging and permanent.

Choose the correct answer from the code given below :

Code :

Options:

Only (i) is true
9194369917,

Only (ii) is true
91594369915,

Only (i) and (iii) are true
91942369919

Only (i) and (ii) are true
9159242369920

Question Number : 80 Question Id : 91394317794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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%He:
Options:
91394369917, e () W
9129426991 %. e (i) T ¥
913943699149, e () 3 (i) 7 &
91394369920, e (@) 3 (i) T §

Question Number : 81 Question Id : 91394317795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider given Assertion (A) and Reason (R) in the light of Parmenides and mark the correct
code :

Assertion (A) : Void is not possible.

Reason (R) : Empty space would be non-being and therefore does not exist.

Code :
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
91924369921,
Both (A) and (R) are true, but (R) does not give correct explanation of (A).
15942369922,
(A} is true, burt (R) is false.
91294369923
(A) is false, but (R) is true.
91:94369924.

Question Number : 81 Question Id : 91394317795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 82 Question Id : 91394317796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following medieval philosophers argued that existence is the most important
actuality without which even the essence cannot be actual ?

Options:

St. Augustine
913943269925, =



St. Anselm

B12334563926.

Thomas Aquinas
B1334563927.

Hypatia
B1334563925. P

Question Number : 82 Question Id : 91394317796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pr=fafaa werpf gnifi & & frad 17 7o fon o1 6 iftaee =g waifues weegl arafasa 2
Forer farmm @ oft areafes =& 2t gt 2

Options:

91334369925, da ST
91394369926, el e
91324363927, T T
915324363928, arRen

Question Number : 83 Question Id : 91394317797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The statement “I assert that Krishna is innocent” in the context of Speech Act theory is a

Options:
91394369929 Performative Sentence

Locutionary Act
91334563920,

Meaningless Utterance
H13345695921.

Systematically Misleadin ression
91394369932 Y g Exp

Question Number : 83 Question Id : 91394317797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
arep-fopn firgrea % wed d 7w Fu 6 A Frreagd® Fea € f Fon fdie @7

Options:



freareeh ame
H1334569929, ¢

g9 FH B
91394369930,

forefer 3o &
91394369931,

sqaftyd &9 d W shireafe 2
91394369932,

Question Number : 84 Question Id : 91394317798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is correct with reference to the concept of ‘Dasein’ of Heidegger ?

Options:

Authentic self is ‘They-self .
91394269933,

91394369924, Inauthentic self is ‘One’s-self .

91354369935, Authentic self is ‘Fallen-self .

Inauthentic self is ‘They-self .
91394269936,

Question Number : 84 Question Id : 91394317798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
e A ST B Ghern F ol # Frafefag A a SR m s wd 2 2

Options:

TR AT S B |
91394369933,

YT, AT ‘G-H87F & |
91394369934,

TR AT “SieH-HeF 2 |
91394369935,

FYTHTI Ao 2-8F% 2 |
91394369936,

Question Number : 85 Question Id : 91394317799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following statements is true with reference to Logical Positivism ?

Options:

Analytic a prior knowledge is impossible.
91394259937, Fecap g P

Synthetic a posteriorn knowledge is impossible.
91394269928, o P g P

Synthetic a priori knowledge is impossible.
Q12943269959 o P 8 P

Analytic a posteriori knowledge is possible.
Q1294269940 - P 8 P

Question Number : 85 Question Id : 91394317799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

91394369937 fareetoomTesras SPTgHIaH T v § |
91394369938, FCHT ST T v R |
91394369939, HPAOITAF AT T 376 § |
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Question Number : 86 Question Id : 91394317800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The view that “All things were created good by God and evil is a corruption of that good” was
held by

Options:
St. Augustine
91Z942594541. B
91394369942, Ov Anselm
Thomas Aquinas
91294369542,

913943689944, | oHnUS



Question Number : 86 Question Id : 91394317800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tg "o frea fean o “Syar gro anft <t < oo wrererlt &9 & 6 78 3R stTe 36 qe & W
w987

Options:

913934369941, A S
91394369942, e e
91334269943, e T
91394269944, e

Question Number : 87 Question Id : 91394317801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Locke, ideas of extension and duration are

Options:

Simple, therefore indirectly known
91334563945,

Complex, therefore directly known
912334563946,

Simple, therefore directly known
21334563947,

Both simple and complex and cannot be known
912334563945,

Question Number : 87 Question Id : 91394317801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:
51394360045, T & TIC IR T 7 1 &
sfet &, s veae w9 @ 9 §

215334269946,



e B, el yeds 9 @ 3
91394369947 ¢ ¢

01304360045 T AN e TR ol 3R S A S wwan @

Question Number : 88 Question Id : 91394317802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Causality’, according to Kant, is

Options:

a priori concept
913294369949,

descriptive account
91394363950,

a posterior concept
91334363951,

articular catego

91334363952, P o

Question Number : 88 Question Id : 91394317802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FIE &% AR FHROAT B

Options:
R Feheal
91394369949
91394369950, WIS R
FWETIHE Tehed1
91394369951
91394369952, e el

Question Number : 89 Question Id : 91394317803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Thales’ Philosophy is consistent with the following except one. Select it.

Options:

91394369953, The Earth is a flat disc which floats on water



The whole universe is flooded with water

Q12943269954

41394369955, Water is the fundamental source of the universe
Apeiron is the fundamental source of the universe

Q1594289956

Question Number : 89 Question Id : 91394317803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

gedt wsh e feew 2 ot 9@ Wt @
91394369953

weol s 9 | fir gan @
41394369954,

STl HEIUS I AT |id B
41394369955,

Ui TS W ST Hid 2
91394369956,

Question Number : 90 Question Id : 91394317804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following philosophers equates ‘Will to truth with will to power’ ?

Options:

Heidegger
91394369957

Wittgenstein
91394369958,
91394369959, etzsche
91394369960, | CrCe

Question Number : 90 Question Id : 91394317804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freafafiaa & & s qeife ao i soo =t afv 6 gsor * st aEa ? 2

Options:



B1334563957.
91334563955,

H1334563959, A
91334563360,

Question Number : 91 Question Id : 91394317805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All life and all happiness are governed by the will to power” is the view held by

Options:

BRyle
91334363961,

91394369962, etzsche

91394389963, | usserl

91394389964, ' iam James

Question Number : 91 Question Id : 91394317805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
7 foram foreet # - “oepl Sftem ofit weqf waaa wfed 6t w1 & genfow & 87 2

Options:

H1334563961. e

21594269962,

91334563963,

91334563964, .

Question Number : 92 Question Id : 91394317806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider given Assertion (A) and Reason (R) in the light pragmatism of William James and
mark the correct code :

Assertion (A) : James rejected the universalist notion of truth.
Reason (R) : For James, ‘Truth happens to an idea’.
Code :

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91594369965,

Both (A) and (R) are true, but (R) does not give correct explanation of (A).
D1294269366,

(A) is true, but (R) is false.
2153394269967,

(A) is false, but (R) is true.
91334563965,

Question Number : 92 Question Id : 91394317806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

faferan Sieg % sgaerard) faga % anets d B o sifirpem (A) ot o (R) W faam Hifae sk
e (A) : 970 3 Teq i grataardt aron it sftwa e |

7% (R) : e o foru, ‘geag d wegan ufeq g &
% :

Options:

01304360055, M) M (R) A & § Sl (R) (A) 1 W =rE R |

(A) 3 (R) g wdt £, ffrg (R) (A) 1 ol samen 781 2
91294269906,

A R)Ted & |
B1334563967. ( ]W%ﬁﬁ{ ) §

(A) TR 2 fRg (R) TR

B13345633965.

Question Number : 93 Question Id : 91394317807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List [ with List II and choose the correct answer with the help of the code given below :

List I List II

(a) Plato (i) ‘Metaphysics’

{b] ﬁl‘iﬂtﬂﬂe {ij] ‘S}'Inpﬂsju_m’

(@ Spinoza (iii) ‘An Enquiry concerning Human Understanding’

(d) Hume (iv) ‘Ethics’

Code :
Options:
9130436995 &1 (P)=(iD), (©—(iiD), (d)—(i)
91394389970, 2 (=D, ()-(v), (d)-(iiD
91394369971 (a)—(iv), (b)—(ii), (c)—(ii), (d)—(i)
91394369970 @D, (B)=(D), (-0, (d)-(v)

Question Number : 93 Question Id : 91394317807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t g 11 & gafaa ifse et = e e ge 6 gerar & ad 3w w gic

H\ﬂ.‘r[ H\ﬂ"ru

(a) et @ Ferfefoma’

(®) s (i) R’

© fewrn (i) ‘g7 gt Fatn g ST
(d) aﬁ (iv) L&'ﬁﬁ‘ﬁj

% :
Options:
91394369969, (a)—(i), (b)—(iD), (c)—(iii), (d)—(iv)
91394389970, 2 (=D, ()-(v), (d)-(iiD)
'913943699?1 {a]_{lv:]!- {b]_{ﬂ], {C]—{]_u], {d]_{ﬂ

— (1 'h [ e d r

01394360070 (@0 (0=, (-0, [d-(v)

Question Number : 94 Question Id : 91394317808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The doctrine of Pre-established Harmony was propounded by



Options:

Berkeley
B1334563973.

91394369974, escartes

91394389975, ant

91394369976, —ClPniZ

Question Number : 94 Question Id : 91394317808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
yeeTiia s 1 fagra feeass gro wfrarfa feeam man 2

Options:

2153942699735,

B13345695974,

B91334563975.

GlECICE]

215334269976,

Question Number : 95 Question Id : 91394317809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Without being aware of an object, [ can be aware of myself.” Which pair holds this view ?

Options:

Berkeley and Locke
1334563977,

91394369975, -ocke and Hume

Berkeley and Kant
91334363979,

Hume and Berkeley
91334363950,

Question Number : 95 Question Id : 91394317809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“Fereft areq it 9 o, & T it 9 g 217 - 97 faEn Prefefiga 4 @ feae 2 0
Options:

1334563977, b

e 3 7w
91394369973,

91334563975, R Sie

am o T
913942359950,

Question Number : 96 Question Id : 91394317810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List [ with List II and choose the correct answer with the help of the code given below :
List [ List II
(a) Adiris the fundamental source of the universe (i) Empedocles
(b) Number is the fundamental source of the universe (ii) Aristotle

(c) The doctrine of four elements (iif) goras
(d) God is unmoved mover W) : s
Code : ANaxim

Options:

91394369051 &, (B)=(v), (0)—(i), (d)-)

91394369980 2~ (B)-(iD), (-0, (d)-(iD

91394389953 &> (PI=(D, ()-(iD), (d)—()

913294269954 (a)—(iii}, (b)—(1), (c)-(ii), (d)—(iv)

Question Number : 96 Question Id : 91394317810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t g 11 & gafaa Hifse oitt e e e ge 6 gara & ad s w gi
1! qHl 11

(a) g wemve & amurg |@a @ (D ueieiedia

(b) wea wanvs i AT g @ (1) e

(e) =m et o fargra (iii) grgemria

(d) fvar srvafda wads & (v) ot

&< :



Options:

91394369951 U, (B)=(v), (0)—(i), (d)-()

0139456005 (D0, 0)=iD, (-, (@-GD

91394369953 &~ W: (P)=D), ()=(i), (d)=(iv)

91394369984 &, (P)=0), ()-(), (d)-(v)

Question Number : 97 Question Id : 91394317811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are Assertion (A) and Reason (R). Consider them and choose the correct code :

Assertion (A) ; Parmenides was a monist.

Reason (R) : According to Parmenides, Being is one, eternal and indivisible.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394359955,

Both (A) and (R) are true, but (R) does not give correct explanation of (A).
91294359956,

(A) is true, but (R) is false.
B12334563957.

(A) is false, but (R) is true.
H1334563985.

Question Number : 97 Question Id : 91394317811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frer srfirper (A) aft o (R) fGu e § | 39 W famm fifsm aft ot g 1 =99 fifsg
Ay (A) : THATTEA Th Thervaarg) 1 |
a® (R) : UTEATEEN % TR AW U, Iad o sfawrsy 7

% :

Options:

0130436005z M) R A & & Sl (R) (A) 1 T e R

(A) 3 (R) g 7t £ Forrg (R) (A) it wdt samem adi 2
91294269986,



Wt g R TEE R

91334563957,

(A) TR 2 fRg (R) T R

2153342699858,

Question Number : 98 Question Id : 91394317812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one among the following is not a nitya dravya ?

Options:

Paramanu
91394369939

Trasarenu
91394369990
91394369991, /KA
91394369992, Manas

Question Number : 98 Question Id : 91394317812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefafanda s a = Az adf 2 2
Options:
91394369989, 3
91394369990 3
91394369991 &
91394389952, 0

Question Number : 99 Question Id : 91394317813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which system holds that there is samavaya relation between a dravya and its guna but we
cannot perecive it ?

Options:

Nyaya
913943895953 e



Vaisegika

91394369994,
91394369995, lmamsd
91394369996, ' cdantd

Question Number : 99 Question Id : 91394317813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fora 9 1 77 foem & F6 zo7 oft 589 77 % <9 grarg gew & fg o s wone 9 W awa € 2

Options:

91394369993 7
91394360904, TP
91394369995, T
91394360996, 00

Question Number : 100 Question 1d : 91394317814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which type of hetvabhasa is committed by the following anumana ? Select the correct code.

Sabdah anitya ciksusarvar
Code :
Options:
Sadharana Savyabhicara
Q1294269997
Svartipasiddha
Q1294289995
91394369999, ruddha
51394370000, Cadhita

Question Number : 100 Question Id : 91394317814 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Prafefiga smmm 3 fra v 1 2emyre @ 2 adt g2 9

wg: e eI
C T
Options:
91394369997, AT eI
91394369998, | g
91394369995, @
91394370000, T

Question Number : 101 Question Id : 91394317815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which system among the following holds the definition of Prama as ‘Tadvati
Tatprakarakonubhavo' ?
Options:

91394370001, —ouddha

Nvaya
91394370002, Fe¥

91394370003, lmarhsa

91394370004, 202

Question Number : 101 Question Id : 91394317815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freferfiaa & & st ugfa o 6t sfomn Tgafa aomrsisgyEt’ &9 § #ar @ 2

Options:

912394370001, aﬂ‘g

91=294370002. i
wtaran

B9133457 0003,



B91334570004, i

Question Number : 102 Question Id : 91394317816 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List [ with List II, with reference to Nyaya darsana, and choose the correct answer with
the help of the code given below :

ListI List II
(a) ‘Tea looks hot (i) Samanyalaksana Pratyaksa
(b} Perceiving all the members of a class (ii) JAanalaksana Pratyaksa
(c) Perception of all the objects of past, present and future (iii) Nirvikalpaka Pratyaksa
(d) Perception of object unassociated with a name (iv) Yogaja Pratyaksa
Code :
Options:
(a)—(1), (b)—(ii), (c)—(iii), (c)—(iv)
91334370005,

913294270006, {ﬂ]_{u]; {h]_{].], {c]—{l'k"], {'c]—(].l.l]

91394370007, @, (B)=v), (0)-(), (-

91394370005, W (b)-(iD), (-GD), (A-(1)

Question Number : 102 Question Id : 91394317816 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=7y 79 % Ged # gt [ it gt 1 & gafes fifie i fie fie e g F ggma & gt s
gfu

et o

(@) gy o wefta E‘Eﬁ %’ (i) —
() fereft =nf & wft wgeal 1 e e (i) 3 N
(@) A & oriag 3G F weefi (V) giror wear
% :

Options:

91394370005, @~ W (PI=(D; ()-(iD), (0)-(v)

91394370006, (a)—(ii), (b)—=(1), (c)—(iv), (c)—(iii)

91394370007 @, (B)=(), (0-(), (-1



91394370008, (a)—(iv), (b)-(iii), (c)—(ii), (c)—(i)

Question Number : 103 Question Id : 91394317817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The Vijfidnavadi — Buddhist’s theory of error is named as

Options:

Asatkhyati
21334570003,

Satkhyati
2912334570010,

Atmakhyati
91334570011,

Anirvacaniyva Khyati
B1233457001%2.

Question Number : 103 Question Id : 91394317817 Question Type: MCQ Option Shuffling: Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

famraTEt — digaa & wu fagia % AW 2

Options:

91394370009, Ml
01384370010, T
91394370011, TN
91394370010, A S

Question Number : 104 Question Id : 91394317818 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List [ with List II and choose the correct answer with the help of the code given below :

List I List II
(a) Samkhya darsana (i) Apramanyam is svatah, praimanyam is paratah.
(b) Bauddha darsana (ii) Pramanyvam and apramanyam both are svatah.
(c) Nyaya darfana (iii} Pramanyam is svatah and apramanyam is paratah.

(d) Piarva-mimarisa darsana (iv) Pramanyam and apramanyam both are paratah.
Code :

Options:

Yes

s Yes



91394370013, @~ (PI=D, ()-(iD), (d)-()

91394370014, (a)—(ii), (b)-(i), (c)—(iv), (d)—(iii)

91394370015, @, (B)-(), (0)—=(iD), (d)-()

a139437001, @D, (0=, (-, (-

Question Number : 104 Question Id : 91394317818 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t gt 1 & gafes $ife st fi= fie me e B gema @ wdt s gfc

Tt Tt 11
O (i) sy ;& I wa R |
(d) siggeh (i) w3k s S = |
(c) =g g9lq (i) groroy ;& ST wa: R |
& :
Options:
91394370013, @~ (PI=(D, ()-(iD), (d)—()
91594370014 @7, @)=, (©-(v), @)-GiD)
91394370015 @~ (B)-(D), (0)—=(iD), (d)-()
91304370016, D, ()=, (-1, (d)-(D

Question Number : 105 Question Id : 91394317819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List [ with List II and choose the correct answer with the help of the code given below :

List [ List I1
(a) $antaraksita (i) Anvitabhidhanavada
(b) Prabhakara Misra  (ii) Sphotavada
(c) Bhartrhari (iii) Abhihirdnvayavada
(d) Kumarila Bhartta (iv) Apohavada
Code :

Options:



91394370017, (a)—(1), (b)—(iv), (c)—(iii), (d)—(ii)

91394370018, (a)—(iv), (b)—(i), (c)—(ii), (d)—(iii)

41394370019, (a)—(ii), (b)—(iii), (c)—(iv), (d)—(i)

91394270020, (a)—(1), (b)-(iD), (c)—(iiD), (d)—(iv)

Question Number : 105 Question Id : 91394317819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t gt 1 & gafes $ife st fi= fie me e B gema @ wdt s gfc

@ et O s

(b) et firg () e

© wfeft Ry —

(d) et wg (iv) srgigare

&
Options:
91334370017 (a)—(i), (b)—(iv), (c)—(iii), (d)—(ii)
51394370015, UV (-0, (-, (d)-(iD)
91394370019, @, (P}, (=), (d)-()
91394270020, (a)—(1), (b)-(iD), (c)—(iiD), (d)—(iv)

Question Number : 106 Question Id : 91394317820 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one among the following is a tautology ?
Options:
W
91334570021, PvE

]
1334537 002%2, P=p

91394370023, © ¥



=24
12334570024,

Question Number : 106 Question Id : 91394317820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafafiga # & - v efe 2 2

Options:

W
91394370021, © ¥

=
91394370022, L
91394370023, T ¥

=
91394370024, &

Question Number : 107 Question Id : 91394317821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to whom does a word denote jati only ?

Options:
91394370025, cumarila
Kanada
91394370026,
Vatsyayana
91394370027,
91394370028, parmakirt

Question Number : 107 Question Id : 91394317821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fereeh sqam weg Faw wifd it Fiffe Fw 2 2
Options:
91394370025,
TS

215334270026,



1334570027,

215394270025,

Question Number : 108 Question Id : 91394317822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A clear distinction between Anupramana and Kevalapramana was drawn by which of the
following Vedantins ?

Options:

Ramanuja
91394370029,
91394370030, mbirka
91394370031, Madhva
91394370030, Samkara

Question Number : 108 Question Id : 91394317822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freferfiaa Seifoat 3 @ foraes gra sgwamr 3it e & e wrse S R man o1 2

Options:
91394370029, R
91394370030, Freams
91394370031, e
91394370032, W

Question Number : 109 Question Id : 91394317823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Knowing the meaning of a word from the behaviour of the elders is known as
Options:

Aptavakya
Q1=Z94270022, pravaky,



Prasiddhapadasannidhya

91294370024,

Vivarana
91334370035,

Vrddhavyavahara
91334370036,

Question Number : 109 Question Id : 91394317823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a3t % sqaEn # weg % o S H Fa T 2

Options:

91394370033, oA
91394370034, TEvEHVET
91394370035, T
91394370036, T

Question Number : 110 Question Id : 91394317824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which type of Kdrana in Vaisesika metaphysics is not related to its Kdrya by the relation of
Samavdya in any way ? Select the correct answer.

Options:

Samavayi and nimitta
91394370037,

Asamavayi and nimitta
215394270038,

Samavayi and asamavayi
215394270039,
91394370040, | mittaalone

Question Number : 110 Question 1d : 91394317824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

3ifes aeastaran # fora weRre o1 oo fondt oft 938 & awarg & G99 o g0 H{9H Hid °§ Hatad
& & 7 wE I gh |



Options:

1334570037, S 3
91334570035, Sty AR Ff
B1334570033, S 3 S
B91334570040, = Fif

Question Number : 111 Question Id : 91394317825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one among the following is net included within triratna of the Jainas ?

Options:

91394370041, o oEIRANS
91394370042, 08 Kamanta
91394370043, Y8 darsana
91394270044 Samyag cdritra

Question Number : 111 Question Id : 91394317825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafafiga & @ $9m Sff + Hrer o aftifaq 78 8 2

Options:

91334370041, R
91324270042, L
91334370043, L
91394370044, R

Question Number : 112 Question Id : 91394317826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to Nyaya, gotva can be perceived by

Options:

Samyoga sannikarsa
31394370045,

Samaveta samavaya sannikarsa
91394370046,

Samyukta samavaya
215394270047 yuk Y

Samanyalaksana sannikarsa
215394270045,

Question Number : 112 Question Id : 91394317826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T % AR TieT & g weae o < wehaT @
Options:
91394370045, o
91394370046, i
HYF G999
91394370047,
91394370048, T ¢

Question Number : 113 Question 1d : 91394317827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following has said that ‘The Gita's teaching stands not for renunciation of
action but for renunciation in action’ ?

Options:
91394370049, S0 Aurobindo
91394370050, | laka

M. Hirivanna
91394370051,

Radhakrishnan

1334570052,



Question Number : 113 Question Id : 91394317827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ffffardafrm smtfs Mo R e siam @ e afg s dam e 2

Options:

91394370049 A sl
91394370050 o
91394370051 . T
91394370052, T

Question Number : 114 Question 1d : 91394317828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Select the alternative that states the correct sequence :

Options:

Maitri, Karuna, Mudita, Upeksa
91394370053,

Maitri, Mudita, Karuna, Upeksa
91394370054,

Karuna, Muditra, Upeksa, Maitri
91394370055,

Mudita, Karuna, Maitri, Upeksa
91394370056,

Question Number : 114 Question Id : 91394317828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gat 0 Far aren fwen gf
Options:
91394370053
91394370054,

B12334570055.



91394370056,

Question Number : 115 Question 1d : 91394317829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following is of the view that ‘Bhagavadgita is only karma oriented’ ?

Options:
Samkaricirya
91394370057, w
Ramanujacarya
91394370058,
91394370059, Lk
91394370060, ' vekananda

Question Number : 115 Question Id : 91394317829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freaferfiaa 4 & froe g faem @ &% “wragfiar o wdanff* 2 2

Options:

91394370057, W
31334370058, Wﬁ
91324370053, foer
31334370060, Fadere

Question Number : 116 Question Id : 91394317830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one among the following is not a characteristic of a sad-hetu ?
Options:

Paksasattva
91394370061,

Vipaksasattva
91334370062,



Paksata
41394370063,

Abadhitavisayatva
91334370064,

Question Number : 116 Question 1d : 91394317830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafefiaa & @ -t ag-2q 6t fagtwar 787 2 2

Options:

91394370061, ra
51394370062, e
91394370083, 0
91394370064, TS

Question Number : 117 Question Id : 91394317831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List [ with List Il and choose the correct answer with the help of the code given below :
List I List II

(a) Natural numbers are derived from logical numbers (i) Russell

(b) Logical atomism (ii) Frege

(c) Logical theory (iii) Wittgenstein

(d) Use theory of meaning (iv) Strawson

Code :

Options:

91394370065, (a)—(ii}, (b)—(i), (c)—(iv), (d)—(iii)

91394370066, (a)—1), (b)—(i1), (c)—(iii), (d)—(iv)

91394370057, s ()=, ()-(1), (d)-(D)

91594370055, W) (0)=(iD, (©)~(D), (d)-(i)

Question Number : 117 Question Id : 91394317831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1=t gt 1 & gafea hife st = fie me e i gera @ ot s 9f

et =
(b) arfeheh TTUETg )
(©) s figia (i) freitezre
@) wref 1 i forgra ) e
&
Options:
9139437005, 2~ (B0, ()-(v), (d)-(iiD
91394370066, W (bI=(iD), (0—(iiD), (d)-(iv)
01394370067 @i 0=V, (D), (-0
_(iv), (0)—(ii), (—(@), (d)—Gii
91394370065, & 0v) (b)-(iD), (c)-(1), (d)-(iD)

Question Number : 118 Question Id : 91394317832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List [ with List II and choose the correct answer with the help of the code given below :
List I List II
(a) Phenomenclogy (i} 1 am, and only I exist

(b) Solipsism (ii) Theory of Signs
(c) Pragmatics (iii) Cardinal concepts are noematic and noetic
(d) Semiotics (iv) The Speech Acts
Code :
Options:
91394370069, W (B)=(iid), (©-(D), (d)-(v)
—{‘" b —(i i d (i
91594370070, {3'] I.l.l],{_ ] {.1]5 {'C] {IV]:.{ ] {].l]
91394370071 {3.]—{111’]5 {b]—{].l], (c]_{m]’ {d]—{]_]
91394370072 {ﬂ]—{u], {b]—{lﬂ], {C]—{]_], {d]_{l‘iﬂ’]

Question Number : 118 Question 1d : 91394317832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt 1=t gt 1 & gafea hife st = fie me e i gera @ ot s 9f

qe 1 | 11
(a) Frireran () #4, ok Faw #u sfer= 2
(b) amEuTHETE (i) fug w1 faga

(c) oqagmRaTdt (iif) wp Geheurd farvare it Frae Bt 8
(d) wehafegmargt (V) ars foren

% :
Options:

91394370089, 2 (BI-(i), (©)—(iD), (d)-(iv)

91394370070, 2D (B}, (=), (d)-(iD)

91394370071 1) 0D, (@), (d)-{)

01394370075, @i (B)=GiD, (-, (@)-(v)

Question Number : 119 Question Id : 91394317833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and other labelled as Reason
(R). Considering (A) and (R) in the light of ‘Liberal Feminism’, mark the correct code :

Assertion (A) : Men and women are equal.
Reason (R) : Both men and women are essentially rational creatures.
Code :

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91=94370073.

Both (A) and (R) are true, but (R) does not give correct explanation of (A).
Q1924370074

(A) is true, but (R) is false.
B1334570075,

(A) is false, but (R) is true.
91334570076,

Question Number : 119 Question Id : 91394317833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= 31w fgu e 8, o =t Afirmya () S gEt Fad (R) FE TR | Ierard) AdErdl %
Frer | (A) 3t (R) W fo=m @ g @@t $ie 1 =94 hifa |

aifireer (A) : gou 3 afgend soe |

% (R) : oy 3t wfgerd g1 & sifrarda: #ifgs woft
% :
Options:

91394370073, OV St (R) qFT et § 3fft (R) (A) 6t Tt sarE @

(A) 3 (R) g 7t £ Forrg (R) (A) it wdt samem adi 2
Q129427007 4.

A R) Tefd & |
B1334570075, ( ]E-Eﬁ%ﬁﬁ{ ) &

A) Tefd R |
91334570076, @ %ﬁﬁ{ AL

Question Number : 120 Question Id : 91394317834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What type of anumana is the following one, in Nydya-Epistemology ?
Whatever is knowable is namable
The Pot is knowable

.. It is namable.
Options:

91394370077, Urvavat

Sesavat
9139437007 8.

Kevalanvayi
91394370079,

Kevala-vyatireki
91334370030,

Question Number : 120 Question Id : 91394317834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
~T-gAHtETET % gEn Aifefas § R s w1 sma g 2
ot 3 & 78 Afidw @

o R
- g AT § |

Options:



91394370077
941384370078, T
41384370079, atiall
41394370080, -

Question Number : 121 Question Id : 91394317835 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“¥our mind is the unit of substance conceived as thought and your body is a unit of substance
conceived as extension” - is the standpoint of

Options:

91394370081, escartes
Spinoza

91394370082,

91394370083, 0ke
Berkeley

91394370084,

Question Number : 121 Question Id : 91394317835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“THET0 T eI o &9 8 IIed e i e 8, sl i e S en i e e R e 2 - 7
gfeeario feraa 2 2

Options:

91324370081, ad
91324270082, iR
91394370083, wl®
91394370034, e

Question Number : 122 Question Id : 91394317836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Who among the following philosophers reduced perception to matter in motion ?

Options:

Berkeley
91394370085,
91394370086, ume
91394370087, | obbes
91394370088, Cescartes

Question Number : 122 Question 1d : 91394317836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freafafiga grifet 3 & v greifres seaea it nfsfe gon @ frga ama 2 2

Options:
91394370035, e
91334370036, w
31334370037, e
91334370038, w

Question Number : 123 Question 1d : 91394317837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following statements is correct with reference to correspondence theory of
truth ?

Options:

Actual state of affairs does not correspond to true statements.
91394370039,

True statements correspond to the actual state of affairs.
91394370030,

True statements do not correspond to actual state of affairs.
91394370031,

True statements correspond to the truth of their own semantic structures.
91394370032,



Question Number : 123 Question Id : 91394317837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tt & gewhiran fagia % e # frafofias Fot 4 @ SR Fm ad @2

Options:

91394370089, ferf et ot < woge e @t 2 |

B1334=70030, il festa & wa g

91394370091 el oo aredfers feuf % e T ¥

Tt He I T it reffamaes dranedt % o % AugET A € |
91394370092,

Question Number : 124 Question 1d : 91394317838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The meaning of the Doctrine of Karma is

Options:

91394570093, Doctrine of the Vedic rites

Doctrine of Niskamakarma
213942700924,

91394370095, | Aalism

31394370096, The Doctrine of Moral Causation

Question Number : 124 Question Id : 91394317838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
5 % foga =1 14 2
Options:

e dewn = foga

2153342700393,

e =1 fagra
91394370094,

91334570035,



Aferr sFmoren =1 faga
91394270096,

Question Number : 125 Question Id : 91394317839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the meaning of Anatmavada in Buddhism ?

Options:

The Soul is different from the body
913943700937,

91394370098, The Soul is not the mind

91394370099, There is no Soul after death

Soul is an aggregate of Skandhas
215394270100,

Question Number : 125 Question Id : 91394317839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
dtg ad § amTerarg & F g § 2

Options:

e ik & i
91394270097,

HITHT |14
21334570035, g

qeg % 1g 1§ e Tl At
91394270093,

HTeHT ThYT 1 G &
91394370100,

Question Number : 126 Question Id : 91394317840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following statements in the light of Kant's maxims of morality and mark the correct
code :

(i) Act only on that maxim which thou canst will to be a universal law.

(ii) So act as to treat humanity whether in thine own person or that of any other, always as an
end, and never as a means only.

(iii) Act as to be members of a kingdom of Ends.

Which of the above statements are correct ?
Choose the correct answer from the code given below :

Code :
Options:

Only (i) is true
91394370101,

Only (ii) is true
91394370102,

Only (i) and (ii) are true
91924370103

All (i), (ii) and (iii) are true
913943270104, o, ) i

Question Number : 126 Question Id : 91394317840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
#r-e o s @l % et # Frafafas st o famm fifie s o8t £ fafea $ifag
(D) et ga % sramr % Fifre g am geamr ges grn amra frem % w9 H wEg O |

(i) 3o e s Fifoe fe amaa 9@ o & 8 sy et s Sl d, sda g v
weqrfa &, greE w9 F T8 |

(iii) 3 wepr sqrrwr <hifee fon amert < gmor=g A A9 TS5 TR O |

I 4 4 S P €
A3 Re e e # Al 3w A g
%he :

Options:

s1394370101, T O TAE
61394370102, T G TR
01394370103, T8 (0 3 (i) T E

913294270104, it @, G it (i) 78 &

Question Number : 127 Question Id : 91394317841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which one of the following theories regards moral judgements as expressions of the subject’s
approvals and disapprovals ?
Options:

Ethical objectivism
91334370105,

Ethical subjectivism
91334370106,

91394370107, |tucal naturalism

91394370105, tucal relativism

Question Number : 127 Question Id : 91394317841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Preffian § & S Rigia 3 fofa ) frvg % sier o fradie 1 aftveafia % w0 d
HAT 8§ 2

Options:

Afereh aEgfsaar

91334570105

A fawafregarg

91234570106,

Atk wpfaT

91334570107

Aferes amierETe
91394370108

Question Number : 128 Question Id : 91394317842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List [ with List Il and choose the correct answer with the help of the code given below :

List I List IT
(Writer) (Writing)
(a) Kant (i) Foundations of Ethics
(b) Ewing (ii) Language and Ethics
(c) Ross (iii) Metaphysics of Morals
(d) Stevenson (iv) Second Thoughts in Moral Philosophy
Code :
Options:



91394370110, @D, (B)=(), ()=, (d)-(iD)

91394370111, {a]_{ﬂs {b]_{u], {c]_{l'k"], {d]_{l.l.l]

91394370110 @, (b)-(), (0)—=(i), (d)-()

Question Number : 128 Question Id : 91394317842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t gt 1 & gafaa $ifie et = fae e e i gema @ ot s 9f

H\ﬂ‘“ T{:ﬁ"l‘u
(Frr) (gr)
e () e ot
(b) ?ﬁ"T (ii) mﬁﬁﬁi
© & R T s——
(d) =g (iv) Behe uigH ¥ Hiter fhatard
% :
Options:
91594370100 A~ @)=, (@), (d)-(v)
91394370110, @D, (B)=(), (=), (d)-(iD)
913943270111 {a]_{ﬂs {h]—{u], {c]—{l'k"], {d]—{]ﬂ]
—1 'h s i d "y
91294370117, (a)—(iv), (b)—(iii), (c)-(ii}, (d)—(i)

Question Number : 129 Question Id : 91394317843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following upholds this view that “Autonomy is the basis of the dignity of
human and of every rational being” ?

Options:

91394370113, |lobbes

Spencer
91334370114,

91394370115, 2t



91394370116, Ccntham

Question Number : 129 Question Id : 91394317843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr=fefiga @ @ <= 3@ fo=m =1 g 2 f6 “ama o g i aoft it wfen 0 smam =

ll?

Options:

91334370113, o
91394370114, L
91394370115, e
913324370116, A

Question Number : 130 Question Id : 91394317844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is true regarding the objective of Deterrent theory of punishment ?

Options:

To prevent the offender from repeating crime and others also from committing crime.
91394370117,

To restore moral order disturbed by the crime and strengthen social solidarity.
91394370118,

To allow the offender to repeat crime.
91394370115,

To transform the offender to a law abiding citizen.
91394370120

Question Number : 130 Question Id : 91394317844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frefrferddasrm s oo fign SR S aeudaa 2

Options:

FOUH Y FH, T4 AU H A 909 FH G DA
91394370117,

Y & Aftrer sqaean % geates st amfies tHged
91394370118, T 8 e =l



91394370119, ft it g7 srvoa w0 & ferg st &

Faureft St HIET AT FE qren T a=
91394370120,

Question Number : 131 Question Id : 91394317845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following holds the view that ‘Morality consists in obedience to the law of
State’ ?

Options:

91394370121, Contham

91394370122, Ml

91394370123, | obbes
Spencer

91394370124,

Question Number : 131 Question Id : 91394317845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiga 7 & faen w7 fomm & 6 Sfershan o9 & i & smamare § 77 2

Options:
91324270121, i
91324270122, e
91394370123, e
91394370124, b

Question Number : 132 Question Id : 91394317846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List [ with List II and choose the correct answer with the help of the code given below :
List I List I

(a) Kant (i) The ideal self is the source of moral obligation.

(b) T.H. Green (ii) God is the source of moral obligation.

(c) Martineau (iii) The ultimate source of all morality and ground of obligation is the pain,
attendant on the violation of duty.

(d) J.5. Mill (iv) Practical reason is the true source of moral obligation.
Code :
Options:

91394370105 @~ (BI-(), (=), (d)-(iD

91394370126 (a)—(1), (b)—(ii), (c)—(iv), (d)—(iii)

91394370107, U, (0)=(¥), (=), (@)~

01304370105 @ (0D, (@D, (-0

Question Number : 132 Question Id : 91394317846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1=t gt 1 & gafaa $ifie st = fag me e i gema @ ot s gf

gt Tt 11

(a) e (D) srest saremt v Swefica w1 & 2

(0) fum dm (D) gy Ao ety 1 EE § |

(@ mf&H (iif) weft Hfereher <kt =m @i ofR IEEETTT 1 AR @ R S Fied % IgH

1 It 2 |

@ S, fre (V) s 3 e s w1 d
% :
Options:
91394370125 @, (BI=0), (0)=(iD), (d)-(iiD
91394370106 @~ ®: 0)=(D, (@), (d)-GiD)
51394370107, (U, ()=, (=), (d)-()
91394370128, (a)—(iv), (b)—(iii), (c)-(ii), (d)—(1)

Question Number : 133 Question Id : 91394317847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among the following maintains that the knowledge of moral laws is obtained through
practical reason ?

Options:

91394370129,
91394370130, | ehson
91394370131, O oK
9139437013p, Tartineau

Question Number : 133 Question 1d : 91394317847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frefefiaa & @ =7 faam formem 2 o6 Ao Pl & s samaerfes 9 % wream @ wiea g o @ 2

Options:
91394370123, e
91394370130, we
91394370131, S
91394370132, et

Question Number : 134 Question Id : 91394317848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are Assertion (A) and Reason (R). Considering (A) and (R) in the light of Gandhi,
select the correct code :

Assertion (A) : If we take care of means we are bound to reach the end.

Reason (R) : Means justify the ends.

Code :
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
91394370123,
Both (A) and (R) are true, but (R) does not give correct explanation of (A).
912394370124,

(A) is true, but (R) is false.
912334570135,



(A) is false, but (R) is true.
91334570136,

Question Number : 134 Question Id : 91394317848 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

;I:;Tﬁw:r () T (R) fau mo @ | et & arredts F (A) 3 (R) W faEm w0 Bu wE 5
sFfirerT (A) : 3fE &9 TTee w1 e T qt g Fifved w9 8 arer woagE |
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e :
Options:

01304370153 A R A & § Sl (R) (A) 1 T =wE R |

(A) 3 (R) T wdt £ formg (R) (A) it a1t samem adi 2
Q1394270134

A R)Ted & |
91334570135, ( ]ﬁ%ﬁﬁ{ ) §

(A) TR 2 fRg (R) TR

91334570136,

Question Number : 135 Question 1d : 91394317849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Martch List [ with List II and choose the correct answer with the help of the code given below :

List I List II
(Writings) (Writer)
(a) The Secrets of the Self (i) Tagore
(b} The Flight of the Eagle (ii) Radhakrishnan
(c) Crisis in Civilization (iii} Igbal
(d) The Reign of Religion in Contemporary Philosophy (iv) J. Krishnamurti
Code :
Options:
91394370137 (a)-(i}, (b)—(ii), (c)—(iv), (d)—(iii)
91394370135, (a)—(iii), (b)-(iv), (c)-(i), (d)—(ii)
(i), (=), (A)(iv), (d)—(iii
51394370139, (a)—(ii), (c)—(i), (c)—(iv), (d)—(iii)

91394370140 (a)—(iv), (b)—(iii), (c)-(i), (d)-(ii)



Question Number : 135 Question Id : 91394317849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t g 11 & gafaa ifse et = e e ge 6 gerar & ad 3w w gic

it 1 .
( ) (vrEr)
(@ = Hhhew AT g &% () iR
(d) 7% wifw freftom 39 Fevrmedt featard (v) <, soomfd
%he :
Options:
1394370157 @0 0=, (O-(v), (d)~(ii)
91394370138, (a)—(ii), (b)—(iv), (c)-(1), (d)—(ii)
91394370139, (a)—(ii), (c)—(1), (c)—(iv), (d)—(iii)
1504570140 @09 0)=GD, @D, (-G

Question Number : 136 Question Id ;: 91394317850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one among the following is an immediate antecedent cause of suffering (Duhkh)
according to Buddhism ?

Options:
91394370141, 2hava

Avidya
41394370142,

91394370143, Samskara

91334570144,

Question Number : 136 Question Id : 91394317850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
dtg W & Fgan Frefafed § @ $m g 1 drcwfos qEad! FI 8 2

Options:



215394270141,

91334570142,

91334570143,

912334570144,

Question Number : 137 Question Id : 91394317851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following philosophers holds that, “there could be no single unchanging set of
perennial and ultimate human rights as the human nature changes constantly” ?

Options:

B91334570145,

291334570146,

91334570147,

91334570148,

Locke

Bousseau

Hobbes

Hume

Question Number : 137 Question Id : 91394317851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frfefian grifient 4 & formem faam 2 T “Farearft afft sifem we st =0 =6t ft o
AafEd=sier #e T8 8 Heha1 FiTeh w=E e § fia vfads g 87 2

Options:

2915334270145,

91334570146,

91334570147,

91334570148,

i

Question Number : 138 Question Id : 91394317852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following statements with reference to Popper’s solution of the problem of
induction, and mark the correct code :

(i} There is no rationally justifiable method of induction.
(ii) There is no reliable method of induction.

(iii) There is a reliable method of induction.
Which of the above statements are correct ?
Choose the correct answer from the code given below :
Code :
Options:

Only (i) is true
41394370149,

Only (i) and (ii} are true
91294370150

Only (ii) is true
91394370151,

Only (ii) and (iii) are true
91924370152

Question Number : 138 Question Id : 91394317852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a9t o ATTHA < THE % gara % g # Frafafign $uet w faam fifsw ot odt e =t fa
hifaa

(D) swmm 6t % dtfgs w9 & qhema vgfr &

(i) arrme 6t 8 favaafg ogfa @i 2 |

(iil) arree 6t v favandfa agfa 2

IR # ° B8 F G E ?

= fow T e 7 & W@ W H I
%e :

Options:

01394370149, 00 TR
01394370150, T8 (0 3 (i) T E
91394370151, e (ii) 7E &
91394370152, Fae (if) 3 (iii) T @

Question Number : 139 Question Id : 91394317853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The meaning of Svatantrya in Madhva Vedanta is :

Options:

91334570153,

91334570154,

91334570155,

B9133457015E,

The Jiva is absolutely free from God.

The Jiva is dependent in respect of its Satta (existence), Jidna (knowledge) and Pravrtti
(action) on God.

The Jiva is the competitor with God.

The Jiva is one with God.

Question Number : 139 Question Id : 91394317853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qeq deTd ° &g & A9 2
Options:

i, & qofean e
91394370153 ) R R

2915334270154,

215394270155,

91334570156,

sfig w1edt ga (afeaed), 79 o mafo () & deg o var o Pnft 2

e 7 o ary wieeadT § |

e S¥a & H1Y THEY B |

Question Number : 140 Question Id ;: 91394317854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

IfE, F and G are true statements and M and N are false statements, which one of the following

is false ?

Options:

91334570157,

91334570158,

91334570159,

91234570160,

~ (E« M) v (F «N)

(G.N)w(FwvM)

(EvG)l« (M+vE)

~ [(F.G) v~ (E.N]]



Question Number : 140 Question Id : 91394317854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfg E, F 3 G geg 9+ § 991 M 3 N 3153 %o 8, Fefafiga 4 @ s smw 2 2
Options:

"'"'E-i F-lN
91394370157, LMV E-N)

G.N)wi(Fw
21394270158, ( v M)

(EvG).MvF)
91294370159

91394370160, (& -GV~ (E-N)]

Question Number : 141 Question Id : 91394317855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“From any true substitution instance of a propositional function, we may validly infer the
existential quantification of that propositional function.” Identify the rule.

Options:

91294370161 Universal Instantiation

91394370162, Existential Generalisation

91394370163, Existential Instantiation

91394370164, Universal Generalisation

Question Number : 141 Question Id : 91394317855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
gravtfirs sgmerfiem
91394370161,
91394370162 RS WIS
eITedeh JgTaufieRT

91334570163,



2915334270164,

Question Number : 142 Question Id : 91394317856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the proposition ‘all men are mortal’ is true, what is the truth-value of the proposition ‘some
men are not mortal' ?

Options:

91394370165, U

91394370166, A

91394370167, Yert to be undetermined
91394370168, Neither true nor false

Question Number : 142 Question Id : 91394317856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

afg wehared it wsa worfter § @ B, 9 aehared F0 9IS T 98§ 1 gedd qod FR ?

Options:
91394370165, O
91394370166, 01
91394370167 it 7% SR

I g T & wEa
91394370168,

Question Number : 143 Question Id : 91394317857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following holds that the definition of ‘“Pratyaksa’ is -
Indriyarthasannikarsotpannam Jnanam Avyvapadesyam Avyabhicari
Vvavasayarmakam'?
Options:

91394370169, _narmakirt

91394370170, Corama



91394370171, umarla

Udayana
91334570172,

Question Number : 143 Question Id ;: 91394317857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fr=fafiga 4 @ oo fam & ‘geger’ i wfowmn - SEarefafaeyior 717 segvevay a=afimm
HEAETHF & ?

Options:

91394370169, SR
91394370170, e
91394370171, F
91324370172 R

Question Number : 144 Question Id ;: 91394317858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An argument form is invalid if and only if,

Options:

It has no substitution instances with true premises and a false conclusion.
91394370173

It has substitution instances with true premises and a false conclusion.
91394370174

It has no substitution instances with false premises and a true conclusion.
91394370175,

It has substitution instances with false premises and a true conclusion.
91394370176,

Question Number : 144 Question 1d : 91394317858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
w gfrd AR Ay # Afg off o afy

Options:

91394370173, 7ot Tew T ey oiit sren Frswd % e #rE wRreemes seeo 98 ¥



91394370174, 7o Teg T AT #i g e % gy ftreamed g € |

91294370175, THE AEc AW ared AR gea Frsaed % gy it IgmE 98 € )

0130437017 TH STECH AR AT A we P % vy s qEw § |

Question Number : 145 Question Id ;: 91394317859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List II and choose the correct answer with the help of the code given below :

List [ List IT
(Name of the logical equivalent) (Form of logical equivalent)
(a) Commutation ® (pog=(~qo~p)
(<) TrmsposTion (i) pog=(~pvq
(d) Material implication (v} (p.(gvDl=[(p-q v (p-D]
Code :
Options:
91394370177 @7, @)D, (@©-(iD), (d)-(v)
. (b, C)—tiv). (i
91394370175 1 (P)=(id), (©O-(v), (d)-()
91394370179, @~ (P)=(iiD), (O-(v), (d)-()
91394370180, @~ (=), (=), (d)-(iiD)

Question Number : 145 Question 1d : 91394317859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt [t gt 1 & gafes $ifie s = fie me e i wer & wd awow 9fc

g1 11
(Fehwed FrgeaAT M AT) (TR BEgeddl H ATER)
(a) weRm ® (pog=(~qo~p
(b) fefEepm () (pvg=(qvp)
(©) zradifaem (i) pog=(~pvy
(d) Hdifera et (V) p.(@@vnl=[(p-q v (p.0)]

%e :

Options:



91394370177 @, (=D, ()-0iD), (d)-v)

Q1294270178 {3.]_{1]!- {b]_{l.l.l], '[C]—'[W], {d]—{l.l]

01304370179, @ B, -, (D-()

91394370180, & (P)=(), (©)=(0), (d)-(iiD

Question Number : 146 Question Id : 91394317860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List [ with List Il and choose the correct answer with the help of the code given below :

List [ List II

(a) Bokardo (i) Third figure

(b) Fresison (ii) First figure

(@) Ferio (iii) Fourth figure

(d) Cesare (iv) Second figure

Code :
Options:

_(iii bi—(i (i), (d)—(i

5139437015y U, (0)-{), (©-(1), (d)-{v)
91394370182 A1, (B)=(iD), ()=, (d)-(v)
91594370153 @~ ®: 0)-GD, (@©-(v), @)-GiD)
91394370154 2 (b)=(it), ()-(i), (-

Question Number : 146 Question Id : 91394317860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t g 11 & gafaa ifse eitt = e o ge 6 garar & ad 3w gfc

qHr1 qHl 11

(a) wierel (Bokardo) (D) et smrfer

(b) %feaa (Fresison) (i) wgelt srmafa

(c) *fEt (Ferio) (i) <eft smafa

(d) W{Ctsm&] (iv) ?@ﬂeﬂﬂ?fﬁl‘

e :

Options:



91394370151, (a)—(iii), (b)—(i), (c)—(ii), (d)—(iv)

Q1294270182 {E.J_{ljs {bj_{lll_], {c_l]_{u:]’ {d_]_'[l'h":]

91394370183, (a)—(i}, (b)—(ii), (c)—(iv), (d)—(iii)

91394370184 2~ (-0, (0—(iD), ()~

Question Number : 147 Question Id : 91394317861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Truth is an attribute of a/an
Options:
Proposition

B91334570185.

Ar ent
91394270186, g

91394370187, owd

91394370185, oonence

Question Number : 147 Question Id : 91394317861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Heq &1 TH TR |
Options:

912334570185,

91334570186,

215394270187,

2153942701885,

Question Number : 148 Question Id : 91394317862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following symbolic forms represents the principle of Identity correctly ?



Options:

91334570189,

v —
91334570130, P P

]
91334570191, PP

:', —
913345701392, P P

Question Number : 148 Question Id : 91394317862 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Freafafiaa wedterrens w91 § & | agre & fag +t odtad Frefm s g 2

Options:

91334570189,

\.,‘ —
91334570130, P P

>
2153342701391, p=p

2913345701392,

Question Number : 149 Question Id ;: 91394317863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the following argument-form and identify the rule of inference involved in it from the
code given below :

(poq.(ros)
pvr
S QVE
Code :
Options:

Hypothetical Syllogism
913942701493, P o8

91394370194, Modus Tollens

Disjunctive Syllogism
91394370135,

913294370196, Constructive Dilemma
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Correct Marks: 2 Wrong Marks: 0
Freferfiga gfia el o femm ifo il A= foe o e @ so aftifea saam & fam =t Rl 6
E
po2q-.(r>s)
pwvr
SoQwvs
&Hhe :

Options:

grgutdfesa faeifasg

9123345701393,

B913345701394,

feca—=fea faeifasn
91394370195,

Ffdea e

913345701396

Question Number : 150 Question 1d : 91394317864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is Conditional ?

Options:

Conjunction
91394370197,

Disjunction
91394370198,

Implication
91394370133,

Megation
91394370200,
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Options:

91334570197,



913345701398,

B9133457013945.

91334370200,



